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Judging countries

Finland, Germany, Great Britain, Israel, Netherlands
(Armenia as reserve)

Theme

A logical study with the foresight theme. In a win or a draw study,
there is at least one logical try. In this try a critical position B occurs
that is very similar to a critical position A in the solution, except for
a small difference.

Studies in which the critical positions are based on a reciprocal
zugzwang (i.e. the difference is that position A has BTM and
position B has WTM) are non-thematic. Further, studies that only
feature the 7th WCCT theme as the foresight theme (passive
removal of a white piece as a Vorplan and returning to the position
and executing the main plan) are also non-thematic.

Judges and composers are advised to let artistic content prevail
over numbers (number of moves, multiple positions A/B, tasks).
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Thematic try: 1.2e4? g5! (1...&b8? 2.23f6 +-, 1...La7? 2.£b7 g5
3.9d6! see try in a try +-) 2.2 b7+ Lb8!

(Thematic try in a try: 2...%a7? 3.20d6! ©b8 4.&b6 £.d3 5.0f7 Lbs!
6.9e5! g4 Bb 7.9xg4 Le2 8.9)e5 (8.4)f67 L g4l 9.9)xg4 stalemate)
£p59.2f3/8.d5/Le4/ 292 £a4(9... 21 10.Dc6+ L8 11.£.g4%)
10.£.94 £.c211.9Dc6+ a8 12.£.c8 Le4 13.£.b74)

3.0¢5 La714.9c7 £155.0b3 2.d716.9d4 g4 = B (Ba)

1.2c7! (1.906? g5 2. £ b7+ Lb8 3.De2 £f5!1 4.0d4 £d75.20b3 L8
= 1.2p7+? Lp8l etc =) Pa7 2.2b7 g5 3.De2 £154.2d4 £d7! A
5.8£31(5.2d5/2e4/2g2 La416.2b7 (6.2.c42 g4 7.5 £d118.2d6
£.f3 =) £.d7 waste of time) g4 (5... 2h3 6.Dc6+ a6 7.2 e2t - echo for
tryinatry) 6.8e2 £a47.2f5 &b3 (7..£c2 8.2d6! £b3 9.8+ La8
10.£.d3 £d511.Db6+ +-) 8.De7! (8.2d6? La8! 9.0c¢8 £.c2110.2d6
£p3=) £c29.20c6+ La8 10.La6 Le4 11.£ b7+ echofor tryinatry

1.hs¥; &g3

Thematic try:2.¥e57 B1 £.¢67 3. 21+ £13 (3...9g4 4. ¥e6+ L g5/h5
5.9e31) 4 Whs54!, but 2... 213 3.2d5 B2 Eg4! (or 3... Eh517 4. Wd4
255 Ye3+ £g26.Df4+ ©h27.9b2 Hga 8. Wh3+ g1 9.Yr31 Hg5
10. De2+ €h2 11.Yf4+ £h3 12.La3 Lg6, =) 4. Y d4 (4.6 Dxfe

5. Wxfe+ ©g2/Efa, =) 21515 We3+ ©g2 6. 04+ ©h27.9b2 g3 or
Hgs, draws

2. Wg7+! £943.We5 A1 213 4.20d5! A2 (4.9g27 Ef6! 5. De1+ De3
6.9c2+ ©f317.Wd4 £f51, =) Hf5BE cannot play to g4 (4... Zf8
5.%d4 D2 (5... Hb8+ 6.2a2 Hag+7.£b3 Hbs+ 8.La3! (7.La4?
2.d7+) Has+9.¥bs Df210.We3+ £g2 1.2+ &f1 12.%c1+ £d1
13.Wc6! Zp8 14.Lc3 Lel 15.We6+ 1 16.Wa6+ Le1 17.g2 again
mate!, if 15... 22 15.Wg2+ Le1 16.Wg1+ £f1 17.20d3+! Dxd3

18.W g3+ 19.Yxb8)) 6.We3+ Lg2 7.4+ Ld1 8. W1+ £d1 9. W4+
291 10.%p4! (threat11.Ye1+) Hes 1.Wc5! 294 12.9d3! He2

13. W1+ ©h2 (13... 992 14.Df4+1) 14. Y4+ £g2 15.Dxf2!, wins)
5.Wd4 0f26.We3+ £g2 7.4+ &1 8. Wg3! Le29.Wg2+ Pe1
10.¥g1+ ££111.Wg3! Hb5+ (11... 2212092+ ©d2 13.We3+)
12.%2a2 a5+ 13.2b3 Eb5+ 14.2a4 Eb2 15.We3+! 2d1

(15... 2216, W3+ HEd217.2g2+ £d1 18.Wal+ L2 19.9e1 mate)
16.¥da+! (16.20d5? L. b5+ 17.&a3 Dd3 18.2f4 2! (18...Hd2
19.% g1+ £c2 20.0d5! £c421.De3+ b3 22. W g7+, +-) 19.9xd3
Hp3+120.&a2 £c4721.De1+ £d122.Wd4+!, but 20... £xd3!
21.%+ &c3i=) Bd2 (16...2c1 17.% 3+ and 18.¥e1+)17. Wa1+
D2 18.22d5" (18.Yxf1? Ed4+ 19.9a3 &xd4 20.¥e2+ 3
21.Wes+ Hd4 22 Wel+ Hd2, =) Des (18... £b5+ 19.%9a5 or £b4
£.d7 20.Db4/De3++) 19.Dbat; if 19.Wxf12? Hxds!
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Thematic try: 1.2¢57 b3 2.cxb3 b7 3.22d6 £b6 B 4.b4 £b5 5.2d7 5
6.bxc5 Exc5 7.L2e6 L6 8. L5 Ld6 9.Lxg5 De7 10.Lg6 Lf8 =
1.2c4! (1.%c4 b3 2.8%xb3 Lb7 3.Lb4 Lb6 4. Lc4 b7 5. 8¢5 L7
6.c3 £d7 7.2b6 Ld6 8.c4 ¢5 9. b5 Le5 10.Lxc5 L4 11.L2d6 Lg3
12.c5 ©xh3 13.c6 g4 14.c7 g3 15.c8 ¥ + +-) ©b7 2.¥xb4 b6 3.2 c4
Sb74.2c5 D7 5.3 ©b7 6.2d6 b6 A 7.c4 ¢5 8.2d5 Tb7
9.%xc5 L7 10.Ld5 £d7 11.Le5 L6 12.2f5 L5 13.Lxg5

P xca 14.h4 2d5 15.216 1-0

Thematic try: 1.9e5+ £f6 2.%d5 g5 3.2d7+ Le7 4.Lc6 g4 5.9 e5
g3B

1.2d5! f5 2. De5+ D16 3.Dd7+ Pe7 4.2¢6 f4 5.De5 3 A 6. Dxf3
1-0

1.d7 (1.2c8? Dxb7 2.Lxb7 h2 3. £ 7 g4 4. Dfe+ L5 =, 3.Dg3+
£g4=,2d7h23.Dg3+ Peb =, 1.093+? Le6 2.%¢7 Dxb7 3.d7 h2 =)
Qxd7 (1...Dxb7 2. ©xb7 h2 3.2 g3+ Lg4 4.2h1 +/-) 2. L8 (2.L¢7?
Ne5=)Db8 (2...Db6+ 3.2d8 +/-, 2...h2 3. ¥xd7 etc. as main line

(3. 9193+ 2 Le6 =), 2... L6 3.4+ ~ 4.%)xh3 +/- theoretical win)
3.9xb8 (3.0g3+? g4 4.1 Da6 =) h2

Thematic tries: 4.2c7? B £g4 5.0f6+ £h3 6.De4 £g2 7.08% h1¥

8. Wph2+ &3 =, 4987 C £ g4 5.0 6+ Lha 6,08 h1¥ 7. Wfa+ Hh3
= 49387 D £g4 596 + ©ha = (5.993 Lxg3 6.b8 Y+ Lg2 =)
4.La7 A Lg4a5. Df6+ Lh3 (5...Lg3/Ef36.08 YW+ Lg2 7. Wp2+
£g18.9g4 +-,5...Lg5/Lf5 6. Ded+ +-,5... 94 6.b8YW+ +-,5...Lh4
6.b8Y +-) 6. Deq g2 7.08W h1W 8. Wg3+ &f1 9. W21
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1817+ ea! 2.8xg6+ 2.9c37 Hc1+3.9d2 Hc2+4.9d1 Ef2
5.2xg6+ ©d4 6.0d7 Hf1+7.2d2 Hf2+ 8.&c1 Hf1+9.2b2d2=;
2.£.957 Hf1=;2.2b4? Hb14= (2.. Hc123. £d2+-) ©d4 3. 86+ Le3
4.8.95+! (4.9e6? d2 5. 295+ L= (5.. Le276. Ld4+! E¥2 7. Lxd2=))
2d4 5.2b2! (5.£6+7 loss of time; 5.£.f4? Eb1+=) He2+ (5. Zf1
6.De6+ Le5 7.5+ (7. 9d8 ? Zg1 8. 7+ Le6 9. £h5 Hh110. £d8+
£f5=; 7. Lxd3? Hf2+ 8. £c3 Lxe6=)) 6.Lc11[6.Lb1? Hg2! (6. He1+2
7. €2 loss of time) 7.£.h5 Hf21 (7. Hxg5 28. Ye6++-fork) 8.2 e6+
(8.d7 Ef5 9. &6+ ©d510.2h8 Ld6 (10... Hxh5211. Df6++-fork)
11.9f6 Le7 (11... £e6212. L£g4+- pin) 12.2) g8+ L8 13.2)f6 Le7
positional draw) £c3; 6.&b3? Ee17.&b2 loss of time) Hc2+ (6..Ef2
7.2h6 Bf1+8.2d2 Ef2+9.2e1;6..He1+7.9d2 He2+ 8.2d1 Ef2
9.£.h6) 7.2d1! (7.8b1? Eg2! (7..He278.£c11(8.2h4 Hg29.£h5
HEh210.2f6+ ©e311. 295+ ©1212.2d1(12. £g6 Hg213. De6 Hg1+
14. €02 d2 15. £xd2 Hxg6=) Eh8! 13.2996 Z g8 14.Lh4+ Le3 15.De7
Hbs+16.2c1 Ebslt 17.£.f6 Hc5+18.2b2 d2=) Hc2+ 9.£d1 main)
8.2h5 Hxgs) Ef28.8h6! A (BEf2, see the thematic try 14.£.h6? with
BEg4) 8.Dh7? Ef1+9.2d2 Ef2+10.Le1 Eg211.25 He2+ 12.%f1
Eh213.9f6 d2=) Ef1+9.2d2 Ef2+ 10.&e1! Eg2

Thematic try: 11.2d1? E g4l (11... Hg1+212. £d2 Hg2+13. €c1 Hgi+
loss of time) 12.&¢1 Eg1+13.2b2 Hg2+ 14.%b3 Eg11 B2 (WL h6)
15.£.97+ ©e3 16.£h6+ Ld4 positional draw, or 17.De6+ Le5 18.2f8
& d4! positional draw (11.2De6+? De5 12.23f8 £d4 13.£.d2 loss of
time; 1 1.£g7+? Pe312.£h6+ £d413.2.d2 loss of time)

11.2d2! He2+12.&d1 Hg2 13.&41 (13.Le17 loss of time; 13.£.b4?
Hg1+14.2d2 Hg2+ 15.9¢1 Hg1+=B1 (WLb4)) Hg1+ (13..Hg4
14.9e6+ (Thematic try: 14.2.h6? B (BE g4) Z g1+ (14.. Zh4215. Lg5!!
Lh1+16. Ld2 Zh2+ 17. L1 Bc2+ 18. d1! as the main line Zf2
19.2h6 Zf1+20. £d2 Hf2+21. Le1 Hg222. £d2 He2+ 23. £d1 Hg2
24. L4 g1+ 25. £d2 g2+ 26. Lc1 Hgi1+27. 62 Hg2+ 28. £b3 Hgi
A2 (WLf4) 29, De6+) 15.L2d2 Eg2+ 16.%¢c1 Eg1+17.&b2 Eg2+
18.%b3 Eg1=B2 (W& h6)) &d5 15.£7+-) 14.2d2 Eg2+ 15.2c1!
(15.%e1? ©c3=) Hg1+ A1 (WLf4) 16.Lb2! Hg2+ 17.2b31
wandering W returned to the diagram position Eg1! A2 (W £f4)
18.De6+! 1-0 (18.217? Eb1+=) e.g., £d5 19.Dc7+ £d4 20.Db5+
&d521.L.xd3 +
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1.£e8+(1.2d77 ©g82.2xe6 L£f7=) £g8(1...¥xe82.98W+ +-)
2.8.xg6 hxg6 3.%b5 g5

Thematic try: 4.2¢5? 5 5.2d5! g4 6.5e4 ©h7 7. Le3 B £g8=; 8.&22
e49. <E§?g3 e3=

4. 2ca1e55.2d3 (5.9d5g46. Pes4 Ph77. £e3 B £g8=) g4 6.Le3!
(6.Le4 £h7) ©h7 7.Led! A Lg8 8.2f5! g3 9.296 g2 10.h7+

Thematic try I: 1.d7? Eg2+ 283 Eg3+ 3.&c4 Eg4+ 4.&c5 Eg5+
5856 Zg6+6.Lxc7 B2 Ed6 =

1.dxc7 Eg2+

Thematic try II: 2.2d3? B1 Hg3+3.&d4 e5+ =

2.%2b3! A1 Hg3+ 3.2b4 Hga+ 4.2b5 HEg5+ 5.2b6 HEg6+ 6.2b7
A2 Hg1 7.c8¥ Hb1+ 8.2a6 Hal+ 9.%b5 HEb1+ 10.2a4 Ha1+
11.9b3 etc. 1-0

1.e6! (thr. 2.7 a2 3.e8%+ La3 4. Wast; or 1..a2 2.e7 Lxc1 3. e8Y+
@La34. Wes 2425 %93+ ¥b2 6. Yb3+ Lc17.8d3a1D018 Wa2 L¢3
9.&xc3 £d110.¥d2# (but not 1.2b3?? a2 -+)) Lf6!

Thematic try: 2. De2?Ba2 3. Dc3+ £xc3l4.e7 a1 508%+ La3
6.Was+ ¥b2 7.W g2+ Lb1 8 Wh1+ 2 9. Wes+ ©b210.Wg2+ =
perpetual check)

2. Da2! A (thr. 3.7, etc) g3 3.7 g2 4.e8W¢, 3...8xe7 4.Dc3%
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Black to move

1.2d2 ©b3 2.2c5+ L3 3.Ded4+ Tb3 4. Hxc2 Exc2

Thematic try: 5.2xc81? h2 6.20g3 £d17.h6 Le1 8.h7 B1 £f29.ha¥
@xg3 draw

5.2d7!' h2

Thematic try: 6.2f2? B2 ©e7 7.&xe7 £d2 8.h6 Le2 9.23h1 L3 10.h7
g2 11.h8Y¥ Exh1=

6.2g3! A2 2d17.h6 De7 8.Lxe7 Le19.h7 A1 2f210.h8¥ &xg3
11.%asg11-0

1...2f6+!

Thematic try I: 2.2e7? Dedl 3.0g3+ Dxg3 4.8.xg3 g4 5.2.e1 &3
6.0 c2 ¥e27.£a51 £d3 8.9a3 Le29.2b6 Lf3110.Dc2e2 11.Del+
Le412.2¢5 Ld5B113.2d6 (13.2e777) Les 14.Ee6 Le3 15.Ld5
&2 16.2 g3+ Lxg3=

2.2f711 Deq! 3.Dg3+! (3. L2657 g4 4.0 2 L3 5.Lg6 £f26.293
Nd37.£.c7 a3 8.9xa3 e2=] Dxg3 4.8xg3 g4 5.8e1 Tf36.Dc2!
(6.2e6? ¥e27.2a5 Lf1 8.4c2 e29.&d5 a3=) Le2

Thematic try IIl: 7.2.b4? £d3 8.9a3 Le2! 9. £¢5 ©£d2 10.9c4+ Ld3!
11.9b2+ L2 12.9xa4 €2 13.£.b4 £b3 B2 = (or 13..9d1 14.Db2+
&2 15.9 ¢4 b3=)

7.8a5! ©d3 8.9a3 Le2 9.8 b6! (9.Le6? Lf1110.0c2 €2 11.&d5
a3=) D£31(9...2d2 10.Dc4+ Ld3 11.Db2+ L2 12.Dxad e2 13.2.a5
Dd1 14.Db2+ 2 15.0c4 ©b3 A2 (WL a5-16...Ixba??) 16.2~)
10.2c2! (10.2£c5?2 11.9c2 £g2112.Le6 Lf11=) e2 11.Del1+ Led
12.8.¢5 Dd5 A1 (WL17) 13. 87! Led 14.Le6 Le3 15Dd5 &2
16.2.h4+! (WBh4 - 16..%xg37?) e3 17.2c4 1-0
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1.8f6+ (1.2£937b1W1=) ©c22.8e5 (2. Exb2+? @1 3.Hb1+ &2
4.Hp4a Who+ =) We7 2. W8 3.Hxb2+ L1 4. Eb1+ £c2 5. Hbal +-,
2..%c63. 23+ Lc1 4.Hd5 Wxds 5. 24+ £b1 6. 2xd5 +)
3.Bxb2+ (3.2 b3+? @1 4. Hd5? YWxe5+ 5.2 xe5 b1 -+) Dc1

4. Hb1+! (Try 4.Zb5? Wa3l 5. 203 (5. £c4 £c2! =, 5. Le6 Yadl 6. Dc5+
£b17. L5+ La28. Le6+ b1 =) Wa6l (5...h526. £d4! as in main line)
6.2.c4 Wa3l (not6... Wg677. Lfa+ £c28.£b3+ €13 9. Le5t model
mate, 6... 2h627. £b2+ £c2 8. £d3¢ model mate) 7. d5 (Here 7.E 5 is
not protected - WEe5 instead of d4) (7. £d3 Ya2+ 8. Ze3 (8. €3 Ld2
=) 2+ 9. Pe4 Yg2+ =) Wag1 8. Zc5 W2+ 9. L3 h5! (9...h6210. Ld4
Ld2 11. Le3+ Lol 12. £b5! Hd1+ 13. €43 Yde+ 14. £g2 Yg6+

15. £h2 Y6+ 16. £h1 +-) 10.£.d4 (10. £f6 h4! =) £d2! (10... £d1?

11. 205! Ya2(Wh3+) 12. Le3 +-) 11.Le3+ Le112.2b5 (12. Hg5 d1+
13. o4 Whi1+ 14. 4 Wps+ =) Wd1+ = (13.293? Wgd+ 14.¥h2
What -+)) £c25.Hb5 Sc1

Thematic try I: 6.2 b3? Wa3! 7.&d3 Wl 8. &e2 Wa3 9. 214+ Lb2
10.£e5+ (10. £g8+ €2 11. £xh7+ £c312.£g8 L2 =) Pc111.2d4
Wa6! 12.2.c4 YWqe! (not 12... Za3213. Hc51 L1 14. Ld3+ La2

15. Hc2+ €63 16. Bc3++- 12... 2d6213. £d3 Who+ 14. 212 +)

13. 23+ (13. £b2+ £c2 14. £b3+ $b1 =) ¥ 2 14.2b3+ 3 15.2d2+
(15.2e5% is not possible - W£&e3 instead of f4) ©£d4 16.Zd5+ Le4
17.£.c2+ ©xd5 (b is protected by pawn) 18.£xg6 B1 hxgé =
6.2d5!1&c26...Wh47.Hd1+ ©c28.Hd41 +-) 7.Bd2+ Lc1 8. Bd1+
@c29.8d5!h5 (9...%c110.£b3 +,9...Wa3 10.Ed2+ +)

Thematic try I1: 10.2d2+? ©¢1 11.Ed1+ @2 12.Ed5 h4 13.Eb5 &1
14.2b3 Ya3 15.£d4 B2 h3! =)

10.Bb5! £c1 11.8b3! Wa3 12.8d4! A2 (12.&d3? 8l 13.Le3 We7!
14.&e2 Wa3 15. 24+ ©b2 16.Le5+ L1 loss of time) Wa6 (12...h4
13.Hc5+(2.e6) +-,12... We7+ 13.He5! Wh4 14. Ec5+ Eb1 15.L.c4!
Wa416.Eb5++-) 13.8.c4 Wg6 (13...Wa3 14. 251 WEH is protected
by £d4) ©€b115.2d3+ Pa216.Ec2+ ¥b3 17.H 3+ +-) 14.Re3+
2c215.2b3+ ¥c3 16.2d2+ ¥d4 17.Hd5+ Le4 18. L. c2+ Lxd5
(b¥ is not protected) 19.£xg6 A1 1-0
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Thematic try: 1.f4+? B &3 2. Exb2! Exb2 3.&as5 Eb5+ 4. &xa6 Ef5
557 ©c46.97 Hfe+7.La5 Hf5+ 8. La4 Hf69.La3 3 10.La2
Ha6+11.%b1 Eb6+ 12.&c1 Ha6 13.2d1 ©d3 14.%el Le3 15.211
&f3 (no check from £8) 16.£g1 Z g6+ 17.&h2 Eh6+=

1.3+ A3 2. Exb2 2.2 g1? Hg5!3.He1 Hxg6 4.7 Hfe=] Hxb2
3.%a5 Hbs5+ 4.2xa6 Hf5 5.7 ©c4 6.97 Hf6+7.2a5 Hf5+ 8.Las
Hf69.2a3 €3 10.2a2 Ha6+ 11.2b1 Hb6+ 12.2¢1 Ha6 13.2d1
2d3 14.2e1 De3 15.2f1 1-0

Thematic try: 1. Exh4+1? @xh4 B f6 £d53.Ld4 £7 4.a4 £g55.Le5
£966.b5 Lc4=

1.Hg71 (1.Hg6? 2e82.Hg7a63.Le4 (3. Hg8 Lb5+ 4. Leq Lg5) L6
4.Hg3 (4. 298 £b5)4..2b2 5. 214 ©h6 6.E g8 2b57.E g6+ Lhs
8.2g1 ¥h69.a4 £xa4 10.Eg6+ £h511.Exa6 Lc1+! = EGTB 12.%e5
£13113.5c6 £a3!14.05 £2a4 15.Ha6 Lb2+ 16.Des L.c2+ 17.9f4
2.1+ 18.De5 2b2+ 19.Le6 Lg5 =) a6 (1...216 2. X xa7 £g5 3.&c4
Lxf5 4.b5+- EGTB) 2.Bh7+ (2.Eg1 216 3.2 g6 Lb5+ 4.2 2 (4. Le4
£b25.04 £xa4 6. Zxa6 £c2+=)4..£955.Lb3 Le26.2e6 L1 7.a4
2h48.Hge 2e2=)©ga3.Exha+! (3.2h6? La4 4.Le4 (456 95
5.296 b3 6.7 (6.4 £¥57.f7 £xf7 8. Hxa6 £Lh4=EGTB)6... 2 xf7
7.Hxa6 £f5=TL£7) 4..8.c2+ 5.2d4 £.b316.f6 (6. £c3 £f7 7. Ld3 £b3
8. Ld4 £g5 9. Hxa Lxf5=) £.957.Eg6 Lf5 8.7 Lxf79.Hxa6 Lhal =)
&xha A 4.f6 Re8 (4..2.d55.Ld4) 5.2d4! 77 (5.Le4? Lg4 6.Le5
£95227.%5e6 (7.04 £g68. L6 Lxa4 9.f7 £b3+=)7..Lf48.Le7 Lh5
9.a4 ¥e5 10.a5 Ld5 =) @h5 6.2 d5! g4 7.Les! 77 . L g5 8.2e5 77
£969.%Le6 L7+ 10.Le7 1-0
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1.a7+ (1.929? bxa6-+ (1... £)e6 72.a7+ main); 1£72? Dxf7-+ (1... e6 ?
2.a7+ main)) La8 2.&f21! De6 (2..h5 3.Lg3! Deb (3..h4+ 4. £g4 main)
47 ha+ 5294 main; 2.7 3.2g3! (3.2e37 h5 4.Le4 ha 5. L4 Dhell
6.Le4 N7 7.2f4 Dh6 positional draw 8.3 Df7 9. £ g4 ©d8 10.&h3
(10. €xh4 ©e6 11.c6 bxc6 12.f7 ¢5=) 10...De6 11.c6 bxc6=) 3..h5 4.Lh4
d8 5.2xh5 De6 6.c6+-) 3.f7! (3.L37 Dxc5= (3..h5 24.c6 bxc6 5. Le4
h46.Le5 91d8 7. £d6 c5 8. £c7 De6+ 9. £c8+-)) h6 (3..h5 4.£g3 main
(4. £927h4 5. £h2 98 6. <h3 g6 7. £h2 98 positional draw))
Thematic try I: 4.2 g3? h5 5.2h2 h4 BIW®h2) 6.&h1 ©)fg =
4.2g211h5 5. 2931 (5.2h27 h4 (5.. 8 26. Sh3 De6 7. g3 h4+ 8. Lg4
main) 6.&g1 9f8=) ha+ A1(W<g3)

Thematic try IIl: 6.£xh4? Dd8! 7.f8D) He6 8.c6 ©)xf8 9.c7 B2 (W h4)
Ng6+10.Lg5 De7 11.%f6 Dcg=

6.2gall h3 (6.. 28 7.Lxh4+- (7.2f4? Dd718.Le3 D8 9. Le4 Ng6
10.6 (10. £¥5 Of8 11. €4 £)d7 12. Le3 £)8 positional draw) bxc6
11.9f5 D18 12.2e5 h3 13.2d6 h2 14.L¢7 Deb+ 15.Lc8 h1Y! =
Excelsior; 7.c6? bxc6 8.%xh4 ¢5 (8... £b779. g’gﬂ-) 9.2}995 c4=,7.9h3?
g6 (7... D)e6 28. £g4 main) 8.&£h2 D18 9.£h3 Hg6 positional draw))
7.2g3!1 (7.c67 bxc6=) h2 8.&xh2 (8.£g2? ©1d8! 9./8%) De6 10.c6

(10. ©)xe6 h1 Wl Excelsior 11. £xh1 stalemate) 10... 2 f4+=) £ d8!
9.f8 1 (9.f8Y? stalemate) De6 10.c6! Dxf8 (10..f4 11.c71+-) 11.c7
A2 (WZh2) 1-0

1.Dc6+! Dxc6+ (1..Lc8 2.9xb4 Eb8 3.2.d2+-)

Thematic try: 2.2d5+?2 De5! (2.2 c8? 3.Lxc6 Ld8 4.2 c7+ see main
line) 3.2 xe5+ 8 4.%¢c6 B1 f4! clearing f-file (5.£¢7 3 = 6.&£d6 Zbs
7.£xb8 Lxb8 8.Ld7 a8 9.Le6 b8 10.f5 L7 11.Les Lb6
12.9xf3 Lxa6=; 5.3 ©d8 6.Lc7+ Le77.8b7 Hg88.%xa7 Hg3=)
5.2.xf4 B2 ©d8 6.2 c7+ (6.£.g5+ Lc8) Le7 7.%b7 B Ef8! draw
2.2d6!! L8 (2..2e57 3. £.xe5 €8 4.De7!) 3.9xc6 A1/A2 £d8
(3..Eb8 4. £xb8 ©xb8 5.f4) 4.8 c7+ (4.£95+ only loses time - D8
5.2f4) $e75.8b7 A Hg8 (5..2d7 6.&xa8 Lxc7 7.Lxa7 4 8.£3)
6.%xa7 wins, for example:

6..Hg27.f4 Eb28.2b6 Eb49.8.c5+ or 7.f3 Eb28.L.b6 Hb3
9.&b7 Hxf310.a7 Ha3 11. 8¢5+
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1.2g3! (1.Dxg6+ ? Deb6+! 2.Lxh4 Lxf6 =) Df3+ (1...e2 2. Dxe2
Le6+ 3.Lxh4 Yxf6 4.5 h7 Ehs+ 5. Hxh5 gxhs +-) 2.9xg6 Le6
3.g8! Hg5+!

Thematic try: 4. 2h7? Exg3 5.2 xg3 €2 6.f7! e1¥ 7.f8Y Wxg3 8. W8+
£d59.0e7+ Le4 10. Y2+ L4 11.20d5+ £g4 12.9e3+ B Phs! =
(12... 21413992+ g4 14. ¥ 8+ Lh5 15.Wes+ ©g4 16.Ye6+ Lh5
17.%Whe+ £g4 18.9e3+ model mate)

4.2h6" Hxg35.Hxg3 (5.Ze7+? £f5=) e2 6.f71 e 1¥ 7.8 Wxg3
8.Wcg+! Dd5 (8. 917 9.%d7+) 9.De7+ Des 10.Wc2+ Sfs
11.2d5+ g4 12.De3+ A 214 13. Dg2+ D94 14. ¥ 8% Ideal mate
1-0

1.We6! (1.9d6? Wd1+! 2.8 c7 Wil=) Dd3+ (1..¥b2 2. W7+ a4
3.9d5 Wh5+ 4.0 ¢5+) 2.cxd3 (2.8d6? ¥xg1=) cxd3 main (2..%xg1+
3.d4 W5+ (3.. b1 4. Oc7 Eba+ 5. Ld5 Y3 6. Wes+-) 4.d5 Ye7+
5.8xc4 Wed+ 6.9c5 We7+ 7.89d4 Wha+ 8.&e5 We7+ 9. Wes Wys+
(9... Yg7+ 10. Z6+-) 10.L2d6+) 3. W c7+ Txa6 4. Wc6+! (4. Y c8+7 Wp7
5. Wee+ La7 6. Wa2+ Wasl=) Da7 (4..Las5 5. as+ mate)

Thematic try - Black must avoid the domination in "echo" in the
counterplay of white: 5.2.e3? B b8! 6.£.f4+ La7 7. W a4+ Lb7

8. Wea+ £a719.8.e3 Db8! (not 9... b7210. £d6+ as in solution)
10.Wes+ b7 11.Wd7+ Lb8! 12.£.d4 d2! (not 12... &b7 ?compare the
positions 1 and 2 13. Le5+! a7 14. £c71d2 15. b6+ £b8 16. Yd6+
£a8 17. Yds+ b8 18. Yd5+ @7 19. Y8+ b8 20. Wa2+ b7

21. %ds5+ 2a622. Wea+/d3 €b7 23. Yed+ La6 24. Yaa+ b7 25. Yeo+
206 26. Lc7+-1; 01 12... 21+ 213. £d5 g5+ 14. Le5+ La8 15. £d6
Ye316. Ybs Ya7 17. Se6 Za2+ 18. €6 W2+ 19. £97 Ya7+20. £98+-)
13.£.e5+ La8= positional draw

5.2d4! A Wb7 (5..2b8 6.Wes+ Eb7 e.g. 7.Wd7+ b8 8. L e5+ Las
9. cg+ £a710.2.d4 Wp7 11. @ c4+ Da6 12.Web+ Pas5 13.We1+ La6
14.% a1+ mate) 6.2 d6+! La8 7. Was+ b8 8. Wes+ Wcs 9.Wh5+
Wp710.£b6d2 (10..%c8 11.2 7+ Ya7 12.Wbe+ La8 13.Wco+ La7
14.£b6+ ©b8 15.£.a7+-) 11.L.c7+ (11.Wes+? W8 12.£.c7+ Lb7

13. W6+ La7 14. £ b6+ Lb8=) Pa7 (11..2c8 12.Wd7+/Yest mate)
12.¥c5+ Das (12..2a6 13.¥a5+ mate) 13.Was5+ Wa7 14.Wd5+
Wh7 15.Wa2+ Wa716.Wgs+ &b7 17.Wd5+ £c8 18.We6+ b7
19.Weq+ D8 (19..2a6 20.Wc6+-) 20.Wes+ ©b7 21. W6+ D8
22.£b6+-2

Domination ¥ £ against ¥ - subtopic: & & vs. &

You can see a similar configuration in the culmination of the study
(W8 vs. D) ina study of Amiryan (at the bottom and the left the
board)
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1.Hg7+ @h6 2.&h2! [2.De57 L.c4+13.8h2 f1Y 4.7+ Lxf7 5. 2.xf1
Hxf1=] £xa6 [If 2...2.c4! in the hope of a hasty 959, then first 3. £ xc4
(but not 3. D5 2f1 W4, D7+ Lxf7 5. L£xf1 Hxf1=) Exc4 and now

4.9 e5 Dh5 5.7 F1 D+ (5.. Hg46. Hxga Exg4 7. De5+1+- 5..f1 272

6. Hg5+ £h47.g34)6.Lg1 Zf47.2e5 Exfe 8. Zh7+ £g59.0f3+ g6
10.Eh3 De3 11.De5+ €5 12. Exe3+-] 3.De5! Hc7![3..f1D+ 4.%8h3
H 3+ 5.2h4 with checkmat; 3..f1'%2 4.7+ ©h5 5. H g5+ ©h4 6.g31]
4.Dg4+[4.Hxc7f1¥] . &h5

Thematic try: 5.9xf2? Exq7 6.fxg7 £.c4 B 7.9e4 £g6 (h6) =

5.2e3! f1W 6.2xf1 Hxg7 7.fxg7 £c4 A 8.De3 L6 9.2f5 g6
10.g8%+ £xg8 11.2e7+ 1-0

1.Ed8h5! (1..e1¥ 2. 2d1 +) 2. Hd1+! 2f8W2 1Y 3.2 d1 g44)
exd1¥ 3.8xd1 g4+ 4.2h4 Dd7

Thematic try: 5.&xh5? g3 6.2 a4 2\f8 (6..9227. £xd7 g1 8. Lc6+ £h2
9.8 % +-)7.5h6 g2 8.2.¢6 e519.Lg7 (9.fxe6 Dxe6=) 2d7 108 Hxf8
11.9xf8 £h2 12.£xg2 ©xg2 B 13.f6 e4 14.f7 €3 15.£g8 €2 16./8Y
e1¥W =

5.8a4! N8 6.8 c6+ (6.xh5? g3 7. 2.6+ g2 8.Lh6 e5=) €h2
7.%xh5 g3 8.2h6 g2 (8..e5 9.2 g7+-) 9.&xg2 ¥xg2 10.&g7 Dd7
11.8% Dxf8 12.Lxf8 e5 A (same as B), but 13.fxe6 en passant! 1-0

1.8c21 (1.e7? Eh8 2. 2.2 D5+ 3.Hxc5 Exb7=; 1.£e4? Ehg=)
A5+ (1..Hxb7 2. Hed+ &3 3. £xad+-) 2.Exe5 Exb7 (2..&xc5
3.£xb3+-)

Thematic try: 3.2xa5? Exc5 4. Dxb7+ £d5 5. 2b3+ L6 6. L ad+ L7
7.e7 Eh6+18.La7 He6 9.e8D+1? ©c8 10.Ded6+ L7 11.0b5+ &8
12.2.c2 Bfe/Hes5 13.25+7 Exf5=B

3.9d6! (3.&xb7? Lxc5=) ¥xc5 4.Dxb7+ Ld5 (4..Lb4 5.2d6 a4
6.7 Zh87.£96 a3 8.217 £c39.Lb5 (9. £b72 £c2! =) Eb8+ 10.Lc6!
Bh8(10.. £c2 11. b7 Bh8 12. Dc5+-) 11.9¢51 Eb8 12.2b7! Eh8
13.9a5 ©b2 14.Dca+ +-) 5.8b3+ L6 6.L2a4+ L7 7.7 Eh6+!
8.%a7 He6!9.e80+! [9.068%7 Ha6+! 10.&xa6 stalemate] Lc8
10.Ded6+ L7 11.Db5+ D8 12.8.¢2! switchback (loss of time
12.£.d171 Hg6 13.£.2 Hfe) Ef6 13. 215+ Exf5 A (+B L a5)
14.27d6+ £d7 15.Dxf5 a4 16.2Da3 1-0 (after Troitzky)
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1.e7 Hc7+1[1.. 58 2.9b7 He8 3.gxf4 £.xf4 4. L c6l+-] 2.La8l
Thematic try I: 2. 2087 Hxe7 3.Dxe7 f31 4.h6! £xh6 5.5+ Les
6.9%xh6 2 7.0 3+ &3 8.Dga! ©xg4 9.20d11 141 10.c4 Dxg3 11.¢5
B1 De4! 12.c6 D c5 13.c7 Dab+=Fork;

Thematic try II: 2.2b6? Hxe7 3.Dxe7 f31 4.h6! £xh6 5.5+ Les
6.9%xh6 2 7.0 3+ &3 8.Dga! ©xg4 9.20d11 141 10.c4 Dxg3 11.¢5
Df5112.c6 De7 13.c7 B2 ©)d5+!= Fork

2... Hxe7 3.2xe7 3! [3... fxg3 4. D f5++- Fork] 4.h6! [4.Df5+7 Le4 5.h6
f21=] 4... £xh6 [4.. £955.0c6+ Le3 6.h7 £f67.2ab4! f28.Dd5+
Fork; 4..f25.h7 f1¥ 6.h8 W +] 5.5+ [Fork] 5... €e4 6.2xh6 f2
7.2c3+ ££38.2g4! Txg4a [8... f1Y 9.Dh2+ Fork] 9.2d 1! f1 D1 [9...
f1% 10.De3++- Fork] 10.c4 Dxg3 11.c5 A1 11... Df5[11... Ded 12.c6
5 13.c74- No check 13... Da6+] 12.c6 De7 13.c7 A2 (No check 13...
Ads+) 1-0

1.c7 Wh3 (1...Bxc4 2.2 5+ Ya73.c82+) 2.c8W+ (2.2 ¢5+ Wxh1
3.c8%W+ Hpg; 2.2d5 Whe+) Wxc8+ 3.&xc8 Hxca+

Thematic try: 4.2d8? Hxf4 5.9xd6+ £a7! Ba (Black thematic try:
5...%b8?Bb 6.2e4 HEh47.292 Hga8.0g3 Hf49.2n11 Eg410.2¢6
Hd4+11.2e71 (11.2e8? ©c7=,11.£.d7? Lb7=) €7 12.£.28 Lb8
13.£92 win) 6.2e4 Eh4 7. 23 Ef48.L92 (8.2g5(d2) Zf5(d4+)) Eg4
9.9g3 Hf410.Dh1 Tbe(Eg4) =

4.2d7! Exfa5.2xd6+ La7A6.2e4 Hha7.292 Hga8.2g3 Hfa
9.2h1! (9.f3? Ef7+and 10...2g7=) Eg410.£d5 1-0

Thematic try: 1.29xa5? Df3 2. £xc6+ Wxc6+ 3.2xc6 B Dxg1 4.e5 Df3
5.66 Dh4 6.7 Df57.e80 Ne7+ 8.0xe7 a7 = EGTB

1.2d4a! Df3 2.8 xc6+ Wxc6+ 3.2xc6 A Dxg1 4.e5 Df3 5.6 Dha
6.e7 ©f57.e8% De7+8.Dxe7 1-0
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1.gxh7 (1.97? Hxa5 —+, 1.£.b7? He3 2.2c6 Dhe+ 3.2f6 Efa+ 4.5g7
545298 Hes+ —+) Hf3+ (1...Dh6+ 2.&e5 Ed2 3.h8Y H\f7+
4,96 D\xh8 5. 4.5 Hxa56.c8Y b4 7.2h3+ Le1 8.%xh8 b3 9.2g4 b2
10.%Wh1+ £f211.215 Za112.2b1 +—,1...Zh3 2. 266 Hxh73.c8 Y%
bxc4 4. Dxc4 +-) 2.295! 2.Le6? Hed+ 3.7 Efa+ 4.Lg6 Des+
5895 Hf8 —+,2.L£96? De5+3.&h5 Hd24.2g4 Eh2+ 5895 Hxh7
6.c8Y Hg7+ —+) Dh6! (2... De5 3.251 D7+ 4.Df6! Edfs 5.8 +-)
3.2xh6 (3.2h3+? Exh3 4.c8Y D7+ 5.Lg6 De5+ 6.5 Df7 =,
3.2.e6? g3+ 4.&f6 Zf4+15Le5 Hf86.c=W O\f7+ 7.9f4 HExc8
8.2.xc8 Hg79.£.f5 bxc4 10.Dxc4 ©e2 =) Hha+ 4.8g7 (4.296?

H g3+ 5.&f6 Hxh7 =) Exh7+ (... 7+ 5.9xf7 Exh7+ 6.5e8 Exc7
7.2h3+ Le1 8.cxb5 +—, 4... 293+ 5.2h8 Ef36.L2e6 Ef8+7.Lg7 +-)
5.%xh7 Ef7+

Thematic try: 6.£96? Exc7 7.2h3+ ©e2 8.cxb5 Ha79.0c6 Eb7
10.£.c8 Eb6 11.2a6 Ld3 B, now 12.9e5+is impossible because of
pin, 12.&f5 $c4 13.Le4 L5 = (13... Exb5? 14.2d4 +-)

6.29g8! Exc77.2h3+ Le2(7...2f2 8.cxb5 Ea79.5c4! Zb7 10.b6!
+-) 8.cxb5 Ha79.2¢6! (9.2c4? Eb7 10.b6 ¥d3 =) Hb7 10.Lc8!
Eb6 (10... Exb5 11.2d4+ +-) 11.£a6 (rook is blocked) £d3 A
12.De5+! (12.277 4 13.92e6 Lc5! = (13... Exb5? 14.2d6! +-))
2d4 (or ©c3) 13.2d7 Ed6 14.£.¢8 L4 15.b6 b5 16.b7 1-0

Sacrifices

Fork

Pins

Not &¢7 or £.g6, but & c4 will be promoted in the end!

1.2h2! (1.5 g2? Yxg2+ 2.9xg2 Exd7 3.2c2 ¥e2 =) ®h1+! (not
1..%hg?2.&g1+-etc; 1... Exd7? 2. Exd1 €2 3.Exd2 ¥e34.9c2
&3 5.Hg3 £146.Exd7 +) 2.&xh1 axb1¥

Thematic try: 3. 2922 Wh7 4.&g1 Wh1!5.&xh1 Exd7 6.&2g1 Exd4
7.2xd4 B Eb118.2f3 £d19.Exd2 ¥c1=

3.2g1! Exd7 (now 3...Wh7? 4. Wce Wd3 5.%f6 Ec1and $9) 4. Hg2!
Hxd4 5.2%xd4 A (extra BY)

a)5...Wd3/Wes 6. He2+ Wxe27.Dc2¢

b)5...Hc1 6,23+ ©d1 7.5 xd2#
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Thematic try I: 1.c8%2 Hxc8! (1..¥xd3 2. ¥c1+ Wd1 3.3+ Le2
4Wear Wy3 5. Wanl ©d16.Wal+; 1. Wa2+ 2.2h1! Exh7+3.9h3+-)
2.913+ Le2 3. Hd2+ Pe3 4.2d5+ (4.h8W12 B1 W1+l 5.&xf1 HExhs
6.2g2 axb6=) Le4 5.2 d4+ (5.n8Y Wge+=) &f5 6. Exfa+ Lg6!
7.9De7+ (7.h8 D+12 ©n71=; 7.h8Y Wed+l-+) ©xh7 8. Eha+ Whe B2
9.9 g5+ (9. K xh6+ Lxh6! 10.Dxc8 a5! 1.6 a4 12.2c4 a3l=) ©h8
10.97+ £h7 11.Exh6+ (11.9xh6 E c2+=) gxh6 12.2xc8 a5! 13.2b6
a4 14.90xa4 Lg8l=

1..Le22. Hd2+ @e33.20d5+ Led 4.De7!

Thematic try II: 4. £ d4+? &5 5. Exf4+ Le6l= B3. No 6.4 c7+
4..%e315.c8%1 (5.05+? Le4 6.95h4 Le317.2d8 Wa2+18.9h3
Wee+=; 5.8 c2? £d316.c8% Hxc87.Hxc8 Wa2+=) 5... Hxc8 6.h8 &1
A1 Exh8 (6... %1+ 7.8xf1 Exh8 8.8£g2+-) 7.2d5+ Les 8.Hda+
215 9.Exfa+ 296 (9..2e6 A3 10.2c7+) 10.De7+! ©h7 11.Eha+
Whe A2 12.Dg5%!

1.97 (1.2f6+? £c712.97 £173.2d4 ¢3! 4. £xc3 £xc3 5.Dxc3 Ld6
6.2h3 Le5 7.Lxh4 D5 8.a3 ©g6 =) £f7 2.g6! Le6! 3. Dg5! Lg8
(3..£2.93+4.2xg3 hxg3+ 5.Lxg3 £98 6.7+ Le7 7.99h6 Le6 8.g8%
£.xg89.0xg8+ L8 10.016 +-) 4. D7+ De7! 5.0h6 £.d5 6. g8
(6.2d4? £d217.98Y £.xg8 8.Dxg8+ L8 9.0f6 ¢3 10.2d7+ Lg8
11.9¢5c212.2d3 1 13 Dxc1 Lxc1 =) Rxg8 7.Dxg8+ L8
8.2h6! (8.9f6? £g7! =) L£.g3+9.8xg3 hxg3+

Thematic try: 10.9xg37? ¢3 11.97+ ©xg7 12.Df5+ &f6 13.2e3 Pe5
1493 B £d4 15.Le2 c2 16.Dxc2+ €3 =

10.2g2! 3 11.97+ Lxg7 12.2f5+ 26 13.2xg3 Le5 14. 2131 A

(6+6) (14.8f22 2 15.De2 Le4! 16.Dc1 d417.9e2 3 =) 215.De2

c1¥116.Dxc1 £d417.9e2 £ 3 18.2d3! a5 (18..Lc2 19.Le3 3
20.%e4 ©c421.9c1 £c322.2d5! +-) 19.2e3 a4 20.Les Dca
21.Dc1!1 L¢3 22.2d5! a3 23.2¢5 ©b2 24.9b4 Lxc1 25.Lxa3 1-0
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1.Bd5+ (1.Exb7+? ©c8 axb3 (2. Hxb3 Lxb3 3.axb3 Hf1+4. £g5
Hxfs+ 5. Exf5 Ld7letc) Ef1+13.Lg5 Hxf5+ 4.9xf5 £d7+ 5. Exd7
L xd7 6.2f6 ha 7.8f7 h3 8.6+ L7 9.7 h2 10.e8% h1¥ =) e7
2.axb3 Hf1+(2... £xb33.E¢5 +-) 3.2e4 He1+ 4.2d4 Ed1+
Thematic try: 5.2 c4? £xb3+ 6.cxb3 Ec1+7.2d4 Hd1+8.Les Hel+
9.5f4 Hf1+10.9g5 Hg1+ 11.&h6 Le6 12.Hg5 Hxg5 13.&xg5
&xd5 14.2f6 h4 15.e6 h3 16.e7h217.e8%¥ ¥ =B
5.2¢5!b6+6.2c4 Lxb3+ 7.cxb3 Hc1+8.2d4 Hd1+9.2e4 He1+
10.2f4 Ef1+ 11.295 Hg1+ 12.2h6 Le6 13.H g5 Exg5 14.&xg5
Dxd5 15.2f6 h4 16.e6 h3 17.e7 h2 18.e8%W h1¥ A 19.W¥as+! 1-0

Thematic try I: 1.2£2? ©g212.Ze2 2.Ee1 Dc1) b1¥ 3. 293+ &f1
4.He1+ YWxel5.Lxe1 Yxel 6.h4a5!7.h5 a4 8.h6 a3 9.h7 a2 10.he ¥
al¥ 11.%xa1+ B1 Dxal=

1.£d2! Dxd2(1..b1¥ 2. He14)

Thematic try IIl: 2.2 b8? b1% 3. Exb1+ DOxb1 4.h4 Dc35.h5 Dd5
6.Lg5 f6+ 7.Lg4 De3+ 8.Lf4 B2 Dg2+ 9.9e4 (9.9g3 De3 10.2f4
Dg2+4) 9..d5+ 10.2d4 Dhal=

2. He1+! 292 (2..2h23.h4)3.BEd11 3.h4? ©f24.Ed1 Le25.Eqg1
&12=) b1Y 4.Hxb1 Dxb15.hd Dc3! (5...a56.h5 a4 7.h6 a3 8.h7 a2
9.h8W a1 10.¥xa1 A1 (BDb1-10...7xa12?)) 6.h5 Dd5 7. L g5! f6+
8.Lg4! (8.L96? Dfa+) De3d+ (Df627) 9.2F4 A2 BL g2 - 9.2 g2+77)
Dd5+10.Le4 D3+ 11.2d4 (11.Le3? Qb5 12.h6 Dd6) De2+
Thematic try Ill: 12.%c4? ©g3 13.h6 Dxf5 14.h7 B3 Dd6+! 15.8d5 Df7
win,; 12.&e3? 2g3 13.h6 Dxf5+]

12.2¢5! d6+ 13.2c4! Dg3 (13...991 14.4! (14.h6 ? E)xf3 15.h7 L5+
16. £d5 £)717. Le6 £)g5+)) 14.h6 Dxf5 15.h7 A3(B L d6 -
15..2d6+77) 1-0
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1.Dd8 D7+ (1... &xd4 2. Df74;1... D95 2. 2.c4 +-) 2. 2181 F1 W+
3.7+ Wxf7+ 4.9xf7 Dg5+ 5.L96 Dxh7 6.Lxh7 Lxd4! 7.L.xd4
He6

Thematic tries: 8.2 e5? D8+ 9.2f7 Hg6! 10. 2 xg6/ L xg6 stalemate;
8.£.c37 Df4+9.Lg5 Dd5! (9...0e2? 10.£.b2 ¥xh7 11.Lg4 g5
12.89xg5 Dg3 13.2f4 D1 14. Lc1+-) 10.2.d4 ©xh7 =; 8.£.b27 Dfs+
9. &7 Dg6! 10.2.98 De5+! 11.Le8 (11.Lxe5 stalemate; 11.2f8
Ng6+12. &7 He5+ positional draw - perpetual check/stalemate)
Ad31(11... D42 12.£.xc4 +-) 12.2.d4 Lxg8 =

8.8a1! &8+ (8... Dfa+9.Lg5! (9. ©f5? Hxg2 10. £96 Dh4+ =)
De6+10. Tf5 Dfg 11. £.96 Dxg6 12. xg6 +) 9. 27 Dxh7 (9...2g6
10. £g8 +-) 10.&xg7+

Thematic try I: 1. Exd7+? Exd7 (1...%xc6? 2. Exc7+ Lxc7 3. Ef5+-)
2.cxd7 Lxd7! (2...fxg2+2 3.9xh2! xd7 4. Eb7+! ©e8 5. a7+

2... 21472 3.9xh2+-) 3.f7 fxg2+ 4.Lxh2 Le7 5. Ef5 £8 6.a5 B1 Z g4
7.8g1 Hgell =

1.exd7! Exd7 (1...fxg2+2 2.8 xh21+- (2. £xg2 2 8xd7=)) 2. E b6+
(2.Exd7+? @xd7=-as infirst try) €c7 3. Exd7+ Exd7 (3...Lxb6? 4.7
fxg2+ 5.Lxh2!+- (5. €xg272 Hc2+ 6. £h1 Hf2=)) 457! (4.9xf3? Exad=)
fxg2+ (4...Le7 5. 516! (5. b7+ ? £¥8 6.gxf3 Hxad=) fxg2+6.&xh2! as
in main variation)

Thematic try II: 5.%xg2? ©e7 6.2 f6 £18 7.a5 Zc2+ 8.%h1 Eb2
(8...2a229.a6+-22) 9.5f4 Eb5! (9...HBa2210.Bf5+-zz,9...Bc2 10.a6
Hce611.a7 Ea612.Eh4+-)10.a6 Has5 11.Ef6 Ha2=zz or9.5Hf5 Ha2=
zz; or 9.a6 B a2!=B2, zz (no tempo move by white king)

5.2xh2! £e7 6.Hf6! 2f87.a5 A1 Ea4(7...2g48.Lg11+-) 8.a6!
(8.Ef52 HEg41=) Ha2 A2 9.2g11+- tempo Hc2 10.a7 (10.Eh6 Lxf7
11.2h8 Ha2 12.a7 moves inversion] Ha2 11.2h6 ©xf7 12.Eh8 1-0
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1.b6! (1.5 b1? £xa7 2.b6 £.xf7 3.bxa7 (3.07 Eb84.h7 £.d4 5.2)df3
£.c3+6.%a6 £.d57.La7 Exb7+ 8. Exb7 Lxb7 9.8xb7 Lg7 =)
3...HExa7+ 4.&b6 He75.0df3 2d56.&c5 2xf3 7.3 £g8 8. K b2
&h7 =) 1... Lxb6+2.Hxb6 Hxa7+

Thematic try: 3.&b5? Exf7 4h7 Exh7 5.Dxh7+ £g8 6.3 £xf3
7.20g5B £.c6+18.Exc6 g1¥ 9. E g6+ ©h8 10.2f7+ £h7 11.Hxg1
stalemate.

3.2b4! Exf7 4.h7! (4. 2b8+? Le75.9h3 96! 6. Eb7+ Le8

7.2b6 £h718.He6+ He79.Exe7 xe7 = or 4.Dh3? Ef4+ 5.0xf4
91¥ 6.2 b8+ Le87.n7 £g7 8h8YW+ £xh8 9. Exe8+ = EGTB) Exh7
5.2xh7+ £g8! (5...2g7 6. H b7+ 98 7. D6+ L8 8. Hbs+ Lf7
9.2g8 £96 10.22f3 Lxf6 11.2¢5 +-) 6.D3! £xf3 (6...&xh7 7.2g1 =
EGTB) 7.2g5! A £g4! (7...91Y 8.2 g6+ ¥h8 (8... L8 9.0h7+ &~
10.Exg1 +-) 9.7+ ©h7 10.Exg1 +-or 7... £~ 8.0h3 +- EGTB)
8.Hg6+ 2h8 (8... &8 9.0h7+ & ~ 10.Exg4 +-) 9.7+ Th7
10.Exg4 g1¥ 11.295+! (11.Exg1 stalemate) £g6 12.Exg1 1-0

1le7d1¥A

1..d12 B 2.e4 D~ 30804

2.e8D+ (2.e8W7 Wf14+3.2g6 g3-+) Ld5 3.2f6+ Ld6 4.Ded+ Ld5
5.2c3+ d6 6.Dxd1 e4 (6..Ld5 7. 03+ £d6 8. Ded+ Ld5 9. D)6+
£d6 10.e4 g3 [10..c3 11.2e84] 11.2e8%) 7.2f6 ¢3 8.b3 ¢4 9.b4 c5
10.b5 ¢6 11.b6 g3 12.2xc3 g2 13.Dxed+ Ld5 14.Dc3+ Ld6 15.e4
g1~ 16.e5%
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1.%a31 (1.Wg1? ©g4; 1.Wxa7? Eb1+2.2h2 Wxf2 3. We7+ $g4)
Hb3!(1..d3 2.%xa7 Hb1+3.2h2 We1 (3. Exf2 4. EAf2+) 4. We7+
©g45.£3+) 2.Wxb3 (2. Y e7+? ©g4 3. Yxf7 (3. ¥d7 Zh3+4.gxh3+ <3
5. YWp7+ €x26. Wg2+ Fe3=) Zbs5! 4. Wg7+ Hg55./xg5 W1+ 6.2h2
£2p8+7.93 Lxg3+8.Lg2 Weo+=)d3

Thematic try: 3.9d4? 2xd4! (3...£g4 4.93 Wc1+ 5.82h2 Wxfa+ 6.93
Wxf3 7. Was+ &fs 8. Wxa7+-) 4.096+ fxg6 5.%e6 Wd1+6.&h2 Wgs
7.93+ ©h5 8. Wd5+ W5 9, W34+ W4 10.Yh1 g5 11./3 WcBl 125 B

| Ye2+13.9h3 g4+ 14.fxga+ Lg5 15.¥d5 f6 16.Yxda+ Pe7=

3.D¢50 £x¢5 (3... Wxf2 4.Wxd3 Wxcs 5.9 h34) 4.0 g6+! (4. Yxf7?
Wxf2=) fxg6 5. We6 Wd1+ (5...¥xf4 6.93+) 6.2h2 Wg4 7.93+ ©h5
8. Wds5+ Wf5 9, W3+ Wg410.Wh11g511.,3 W8 (11...We6 12.94+
©g613.55+) 12.F5! A (BLc5-12.. % c2+72) g4 (12... Wxf5 13.g4+)
13.2g2+ ©g5 14.¥ha+ Dxf5 15.Wxga+ 1-0

1.b7 Dxb7 (1...£952.Lc3 Dxb7 3.Dxb7 +-) 2.Dxb7 L g5+
(2...2h43.d6 Le1+4.%d1)3.9c3 3.2d1 b4 4.d6 c3-+) £ha
(3...exd54.£.¢6 d4 5. Yxc4 d2 6.2.f3 d3 7.9d6 214 8.2d5+-) 4.d6
(4.dxe6? Lel+5.Pxc4 d2 6.£h5 d1¥ 7.0 f6+ gxfe 8.2xd1 Da3
9.&b3 Db5 =) Lel+5.Lxc4d26.£h5 d1¥

Thematic try: 7.2Yh6+7? gxh6 8.£xd1 De3+9.£d3 Hxd1 10.d7 B1
L ha=

7.2f6+ gxf6 8.8&xd1 De3+ (8...2a3 9.¥b3 Hb5 10.d7) 9.2 d3
2xd110.d7 A1 £h4 11d8¥ 1-0

or6...0a3+7. 25 d1¥

Thematic try: 8.2f6+? gxf6 9..2.xd1 B2 fxe5 10.d7 £h4 =
8.2h6+! gxh6 9.£xd1 A2 £f2+ (9. fe5?7) 10.2b4 1-0

1.Bxa77f2-+

Thematic try: 1.2 d7+ ©e82. Exa7f2B -+

1.b6!axb6 (1..a1¥ 2. Hfg+ Le73.b7 +) 2.Hd7+ Le83.Ha7f2A
(3..0c3 4.£xg4 +-) 4.2d7+ £d8 5.2b5 D3 6.Lf1 b57.Ha3 Le7
8.2xg4 £d6 9.2h3 L¢5 10.Hxc3+ b4 11.Hb3+ ©ag 12.Lxb5+
@a513.Ha3+ xb5 14.£921-0
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1.g7! Bfb8! (1..£2+ 2. £xf2)

Thematic try: 2.2 xd4? Exb2! (2.. 272 3.2xf3 ©g8 4.5 h1 Le65.2h6
£xa2 6.6 Exg7 7.0a4 +-) 3.£xb2 Exb2 4.Dxf3 b1+ 5.22 (5.&d2
Hxg16.Dxg1 £f77.0e2 Le6 (7.. £xg7 8. Od4 (8. O)f4) £¥8 9. L3
£e710.£c4 Lc811.a3 £b712.a4 a6 13. Lc5 L£g2 14. £b6 L1 15.05
£d716. €c5 £h317. D2 Le6 18. 4 £a2 19. 2d5 £b3 20. Dbs Le6
21. Ld4 £d7 22. Dxab L6 23. b4+ b5 24.06 Lb6 25. Led Lca

26. 25 £a727.e6) 8.a3 ¥xg7 9.9¢3 a5 10.Ld4 L7 11. 25 e7
12.9d4 £h313.&b5 £d7 14.Lxa5 L7 15.9b4 £d7 16.Lc5 L a4
17.66 ©¢818.f5 (18.2d6 Lb7, 18. Dc6) Ld8 19.2d6 Le8 20.0e7
L8 21.9d5 £b5 22.e7+ Lg7 23.9¢7) Hxgl 6.2xg1 L7 7. e6+!
£.xe6 8.9g5+ Lxg7 9.Dxe6+ L6 10. D7 Le5B 11.22 Ld4!
12.2e2 €3 13.&e3 Tb2=

2.8c1! Hxb2! 2..Hc73.9d3 &7 4.0xf3 ©g85.0xd4 Ec46.2.e3
Eb1+7.£d2 Exg18.2xg1 £94 9.e6 ©xg7 10.e7 £h5 11.2Db5 Lf6
12.8.¢5 He413.0¢7 +-,2..H g8 3.Dxf3 28 4.2 g2 ©f75.8.h6 Hbe
6.2h2 Le67.9xd4 £xa28.9d3 £c49.2d2 Ha610.2b4 Ebe
11.9dc6 a5 12.9xa5 Exb4 13. €3 +-, 2.7 3.2xf3 £g8 4.2d3
25 5.0f4 Exg7 6.Exg7+ &xg7 7.2xd4 L4 8.a3 He8 9.2)f3)
3.8xb2 Hxb2 (3..f2+ 4.Lxf2 Exb2+ 5.9f3 +-) 4.Dxf3 (4. g8 D+? L8
5.0xf3 Eb1+6.2d2 Exg1 7.9xg1 ¥xg8 =) Eb1+ (4.. 26 5.98Y
2xg86.Hxg8 Le6 7. E g6+ Lf5 8. Hfe+ Les 9. e6) 5. ©f2! (5.£d2?
Hxg16.9xg1 £7 7.0f3 Yxg7 8.2xd4 ©f7 =) Hxg1 (5. Eb2+
6.Lg3 L7 7.%f4 £g8 8.0xd4 Exa2 9.6 +-) 6.Lxg1 Lf7 (6..Le6
7.9xd4 £.98 8. D5+ ©e6 9.2h6 +-) 7.e6+! Lxe6 8.2g5+ Txg7
9.2xe6+ L6 10.2c7! (10.22xd4? Le5 11.De2 Lesl 12.8f1 Ld3
13.&e1 @2 =) De5 A 11.9f2 (or 11.9f1) 2d6 12.2b5+ L5
13.2a3 ¥b4 14. Db1!1-0

1.%f4n (1. 957 Exd4 2.9g3 Ehs!3.8f3 Hg54.@h2 Wxf2 5.Wxf2
Lxf26.9h3 Le37.9xg5 Eh48.99h3? Hca=) Bha+! (1...¥d2
2.9xd3 Wxf4 3. Lxf4 Exh1 4,013 Le25Led +-;1... Exh1 2.Wc1
g2 3.0xa2 Exd4 414 Exg1 5.Wxg1 ©xg1 6.2.b6 +-) 2.&xh4 g5+!
3.Wxg5 (3.&xg5? ¥xa5 =) 3... Wxf2+ 4.2h5 Wh2+ (4...b2 5.9xd3
Wh2 6.%Wh4 Wxh4 7.9xh4 b1 8.90h3 +- or 4... Y7 5894 Yee
6.5 Wxfs 7.Lxf5 b2 [or 7... Exd4 8.2f3 b2 9.2xd4 b1 10.Le4 Y-
11.2Dbxc6 +-18.L.e4 Hxd49.£b1 +-) 5.¥h4 Wxh4+ 6.Lxh4 Exd4a+
Thematic try: 7.£g3? @xg1 8.£b6 Lxh19.£xd4 c5! 10.£xc5 b2
1M.2d3b1¥ B=

7.2h31 &xg1(7...c58.2b6 b2 [8..Exb4 9.292 Le1 10.La5! +-]
9.£92 Le110.9f3 @2 11.£xc5 +-0r 9... &2 10.&xc5 b1 11. £xd4
+-) 8.2.b6! ©xh19.£xd4 ¢510.£xc5 b2 11.2d3 b1¥ A WEh3)
12.22 £g1 13.Qe4 Dh1 14.D9g3% (or 13...Df1 14.D0d2 +) .
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1.2 95+ g7 2.f6+ L8 3.Exe2 Hxba+

Thematic try: 4.f41? Exfa+ 5. 2.xf4 (1Y 6.2.h6+ &7 7.He7+ Lxf6
8.295+ &f5-+B

4.d4! Exda+ 5.4! Exfa+ (5..Ed76.Ze1a37.f5a28.5a1 &f7
(8..2b79.d4 Zb110. Lh6+! £¥711. Hxa2 Hh1+12. £g4 Hg1+13. 13
c1 214, Lxc1 Hxc1 15. Lg4 Hgi+ 16. €4 Hf1+17. Le5 Hel+ 18. <16
£xf6 19. a7 h6 20. Eh7 &xf521. Bxh6+-) 9.2 g4 Eb7 10.£e3 Hb3
11.Exa2 Hxe3 12.Exc2 Hed+ 13.2g5 h6+ 14.&xh6 Exf6 15. 5 c6+1+-
EGTB; 5.. 2 d5 6.2 h6+ &7 7.2 e7+ ©xf6 8.5 7 Hxd29.£94 Hg2+
10.9f3 Eh211.%9e4 He2+ 12.8d3 Eh2 13.£95+! (13. £g7+ 7 £¥5

14. Hc5+ 294 15.h6 a3 16. xc2 Bxc2 17. €xc2 Exfa=) Le6 14.h6! Ld5
155123 16.£2.c1 Le5 17.Exh7 &xf5 18.Ha7+-]

6.2xf4 1% 7.8 h6+ 298 8.Hes+ &7 9.He7+ Dxf6 10.2 g5+ Lf5
A 11.Ee5+! @xe5 12.d4+ Dxd4 13.Lxc1 1-0

Thematic try: 1.a827B=

1.a82Q1A £b12.2b6 La23.2d72b14.2xe5 £a25.2g4 £b1
6.exd4 £a27.9e3 £b18.2xd5 £a29.2e3 £b110.d5 £a211.d6
£b112.d7 £a213.d8¥ £b114.Wa5+ La2 15.Hxa2+ bxa2
16.¥xc3+

Thematic try I: 1.£.xa5? f2 2. 2 xc7+ ©a8 3.£.d6 f1¥ 4.c7 Wp5+ 5.2d8
Whe (5..%a52 6.h5! Whe 7.2 c5! Was 8.h6! ©b79.2d6 L6 10.Le7
Wa6 11.h7! +) 6.£.¢512 B1(no BA a5) Wa5!7.£b4 Whe =

1.£.d6!f2 2. & xc7+ La8

Thematic try II: 3.2.e5? f1¥ 4.c7 W5+ 5.£d8 Whe 6.2 d4 B2(W £.d4)
W6+ -+;3.2b87 F1Y 4.c7 Wh5+ 5.Ld8 Whe! -+

3.2d6! f1¥ 4.c7 Wb5+ 5.2d8 Wb6 6.£.¢5! A (B~ a5 and WL d4 -
6..% 2597 or 6.. %Y d6+? 7. 2. xd6) Wxc5 7.c8 W+ Wxc8+ 8.Lxc8 a4 9.h5
a310.h6 a2 11.h7 a1¥ 12.h8¥ (13.L74) Wa5 13.2d7+ L b7
14.¥c8+ 2b6 15. W6t

Try 1 fails to arrival of the BY (f) on the vacated square a5 (B1); try 2 fails
to the wrong position of WE which does not guard d6 (B2). In the
solution there is switchbacks: on d6 by the W£ and on a5 by the
promoted BW (a); in the first try there is we roundtrip a5-c7-d6-b4
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1..He8+2.&a7 L2+

Thematic try: 3.c5!? Lxc5+ 4.Dxc5 Hag+ 5.9xa8 Ebs+6.%a7 Eb7+
7.9a6 b6+ 8.La5 Ebs5+9.2a4 Hba+ 10.2a3 Hb3+B111.La2
Hb2+12.2a1 Eb1+ perpetual check

3.e3! &xe3+

Thematic try: 4.dxe3!? Hag+5.9xa8 Ebs+ 6.La7 Eb7+ 7.%a6 E b6+
8.&a5 Eb5+9.La4 Eba+ 10.2a3 Exb3+ 11.9a2 a3+ 12.&b1
Hpb3+13.9c1 Ec3+14.9d1 Ed3+ 15.Le1 Exe3+ 16. 211 Ef3+
17.292 Exg3+ 18.9f1 Hf3+19.0f2 Hxf2+20.%e1 He2+21.2d1
Hd2+22.&c1 Ec2+23.9b1 Ec1+24.@a2 Ec2+ 25.@a3 Ec3+
26.%a4 Hxca+27.9a5 Hc5+28.2a6 Ec6+ B2 29.%a7 HEc7+30.9a8
H 8+ perpetual check ]

4.d4! &.xda+

Thematic try: 5.9xd4!1? a8+ 6.%9xa8 E b8+ 7.&a7 Eb7+8.La6
Hb6+9.%a5 Ebs+ 10.La4 Ebd+ 11.2a3 Eb3+ B3 12.&a2 Hb2+
13.Wxb2 stalemate

5.c5! £xc5+ 6.2Dxc5 Has+ 7.&xa8 Ebs+ 8.2a7 Eb7+9.2a6
Bb6+ 10.2a5 Eb5+ 11.%2a4 HEba+ 12.&a3 Hb3+ A1/A3 13.2a2
Ha3+14.9b1 Bb3+15.2c1 Ec3+16.2d1 Hd3+17.&e1 He3+
18.9f1 Hf3+

Thematic try: 19.921? Exf2+ 20.%e1 He2+ 21.&d1 Ed2+22.&c1
Hc2+23.9b1 Ec1+24.@a2 Ec2+25.@a3 Hc3+26.9b3 Exb3+
27.%a4 b4+ 28.La5 Ebs5+29.2a6 Eb6+ B4 30.Ya7 Eb7+31.9a8
H b8+ perpetual check

19.2g2! Hxg3+ (19.. 2+ 20.&h3 Hxh2+ 21.£g4 Eh4+ 22,815
Hfa+ 23.De6 Efo+ 24.De7 +)

20.2f1 Hf3+ 21.2f21 Exf2+22.2e1 He2+ 23.2d1 HEd2+ 24.2c1
Hc2+25.9b1 He1+26.2a2 He2+ 27.&a3 He3+28.2b3! Exb3+
29.2a4 Eba+30.2a5 Eb5+31.2a6 Eb6+ A2/A4 32.2a7 Hb7+
33.2a8 Ha7+34.2b8 Eb7+35.2c8 Hc7+36.2d8 Hc8+37.2e7
1-0

1.8.¢6 + 4 2. £.xf3 Txf33.a6 h24.a7 h1¥

Thematic try: 5.a8%+7 B1 Ye2 6.%xh112. B2 stalemate, 6. ~?2 Black
mates

5.a8 &+ A1 (WL, not WY - Phoenix theme) @e2 6.£xh1 A2 (no
stalemate) ~ 7.a5 1-0
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1. Wg2t Hhxf3 (1..Efh4 2f41 [~ 3.¥agt] ©bs!3.Hxh3 Hxh34.He7
Exb3+5. Lc1l Ec3+6. b2t +-)

Thematic try: 2.£a1? B &ds! 3. Exf3 Wfe+

2. 2c1A

(2. B xf32 W5+l double attack 3.%a2 Exf3 =4.Ef11 Exf1 5. W6+ b8
6. Wxb6+ La8 = perpetual check) He4 3.Hee3 Hexe3 4.Hxe3 Wg7
5.Wxf3 a1+ 6.2c2 wins (or 3..Efxe3 4. Exe3 Wg4 (4..Exe3
5.%a84) 5. Wxe4 wins)

1.2f6+! Dxf6 (1..¥xf62.a8Y Whe+ 3. Whb7 Wxb7+ 4. Lxb7+-) 2.a8W
Nd7+ 3.Lc8! (WL must avoid b7: 3.&b7? Wds+ 4.La7 Wd4+ 5. Lb7
W d5+ positional draw) Db6+ 4.&b7 Wxc7+ (4.2 d5+ 5. L xb6 Wxa8
6.f4! Wxg2 7.c8YW Wxd2 8.f6 wins, or6...b2 7.2e1! Wxg2 8.c8 W Wq1+
9.d4! Wye1 (Yxda+; La5) 10.f6 wins) 5.Lxc7 Dxad+

Thematic try |: 6.¥b7? b2 7.2c3 b1 8.2f6 Wh1!l B1(WLb7 and pin
of W& g2, Black wins

6.2b8"b27.2c3b1¥ 8.£f6!, and now Wh1 A1 (WL b8 so wPg2 is
not pinned) 9.g4%, or 8...Wxb4 9.2b7! Now Black cannot play ¥h1
(9.94+? YWxg4 10.hxgd+ Lxg4 11.£.97 Lg5 (Lxf5) = - with WL b8 the
B4 escapes) Wf4 (BY must prevent 10.g4+) 10.g4+ (10.£.d8? ¥ gs5!
11.g4+ £h4 12.£xg5+ Pxg5 13.h4+ L6 -+) Wxga 11.hxgd+ Lxg4
12.-@-97! @gs (after 9.2b7 the BA cannot escape) 13.d4 (1 3.&xa8? h5
14.d4 h4 15.d5 h3 16.£.e5 Lxf5 17.2.93 b4 18.d6 Le6 19.2b8 Ld7! -
+) ©x£5 (13...h5 14.d5 Lxf5 15.&xa8 h4 main line) 14.d5 h5 15.&xa8
(15.d6? ©e6 16.Lc6 Db6! 17.f4 h4 18.f5+ Lxf5 19.2xb6 h3 20.d7 h2
21.d8Y h1'¥ 22 Wfe+ & g4l= EGTB) h4

Thematic try II: 16.£b7? h3 17.d6 h2 18.d7 h1%¥+ B2 (W& b7, so Black
promotes with check and wins)

16.£b8! Again WL avoids b7! h3 17.d6 h2 18.d7 h1¥ 19.ds¥ A2
(W b8 - promotion without check) ®h2+ 20.2¢8! (Again WL avoids
b7!-20.Lb7? YWg2+ =) Wxf2 (20.. ¥4 21.£.d4) 21. ¥f6(8)+ Les
22.¥xf2 wins, or 17...2e6 18.2¢7 h2 19.d7 h1¥ 20.d8¥ Wh2+
21.2c8! Wxf2 22.Wd7+ midboard model mate.

Thematic foresight is shown twice. The first time is 4.Lb8l (4.2b7? and
then BY pins W £ g2 from h1). The second time with echoing moves is:
16.2b8! (17.2b72, and Black promotes with check on h1). WL must
also avoid b7 in the introduction (3.2 ¢8!) and the final (20.2c8!).
Further features are 9.%b7!l instead of quickly winning BY after which
BD escapes from the corner, and the final midboard model mate
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1.96+ (1.axb7 Wel+ 2.&xa2 f1Y 3. Wxf1 Wxd2+ 4.Lb3 Wxc3+5.La4
Yo+ 6.2xba Wes+ 7.89b3 W2+ with perpetual check ) €h8

(1 ...@xg6 2.a8%Y, 1 ...?%’xgé 2.a8%Y) 2.axb7 (2.a8Y Yxa8 3. L xa2
bxc3) £.g8!

Thematic try: 3.a8% We1+ 4. £b2 bxc3+ 5.9xc3 Wi+ 6.9d4 Wea+
7.9e3 Wxfa+ 8. Lxf4 f1 W+ 9.Lg5 Wee+10.&2h5 Wes+ 11.95 We2+
12.94 Wes (12... %37 13.b8 E Il wins as in the main line) 13.b8¥ Yxbg
14.%xb8 b5 15.Wxb5 £a2 16.&xd3 298 17.¥d6 £b3 18.d4 La2
19.d5 £.xd5 20.¥xd5 B stalemate

3.a8 1 We1+ 4.2b2 bxc3+ 5.9xc3 Wel+ 6.9d4 Weg+ 7.9e3
Wyfa+ 8.9xfa f1 W+ 9.Lg5 W6+ 10.&h5 Wes+ 11.g5 We2+ 12.94
W31 13.b8 21 (13.08% 27 Wxas! 14.Wxa8 b5 draws as in the thematic
try) Wxa8 (13... ¥ d5 14.2d8 ¥b3 15. 2 d4 b5 16.Had8 Wa2 17.E xd3
Wa518.He8b419.Edd8 Wa220.d4 ¥c4 21.d5) 14.HExa8 b5 15. 2 b8
b416.Exb4 £a217.2d4 2b3 18.Hxd3 £.e6 19.Hd6 £9820.d4
£a221.d5 &xd5 22. Exd5 A 1-0 Same position as in the thematic try,
but with a rook instead of a queen there is no stalemate

1.Ea1 &f112.&xf1 Le53.Ead1! £h2!4.2f3 £g15.Hg2!

(5.2 h2+2 Wxh2 6.29xh2 &xh2 7.2 d2+ £h18.Ed3 £h2 =) hxg2+
6.Le2 Wh2 7.f6! (7.fxe6? fxe6 8.Ee1, e.9.h39.Ed1 €5 10.2d3 e4+
11.%xe4 Wes+1 12.2xe5 h2 draws) h3

Thematic try: 8.2 c17 €5 9.2d3 e4+ 10.&xes W4+ 11.&xf4 h2
12.0xh2 ©xh2 13.9f3 £.d414.Hc2 £121B(WEc2) 15.Exf2 ©h1
16.H xg2 stalemate

8.He1!e59.2d3 e4+ 10.&xe4 W4+ (10.. Wes5+ 11.0xe5 h2 12.9g6!
+) 11.2xf4 h2 12.2xh2 @xh2 13.2f3 £d4 14.He2 £f2 A WEHe2)
15.He8! £h416.Eh8 ©h317.Hg8 1-0
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1.d4 cxda+ (1...exd4+ 2.Wxd4 cxd4+ 3.cxd4 etc.)

Thematic try: 2.cxd4? exd4+ 3.Wxd4 He2+ 4.2d3 Hd2+ 5.2 c4 L7+
6.d5 (6.2 e6 Lxe6+ 7. ¥ d5 £xd7 =) e5 B - with W& d5 e.p. capture is
impossible - 7.%xf7 Hdast

2.Wxd4! exd4+ 3.cxd4 He2+ 4.2d3 Hd2+5.Lc4 17+ 6.d5e5A
(with W & d5 e.p. capture is possible) 7.dxe6 e.p. Exd7 (7... 298
8.2.xb6) 8.8xb6 1-0 (8.exf7? Lxf7)

1.2b2f42.2b3 Heq!13.2c3! 3 4.2d3! Hes! 5.Eh1+! 292
Thematic try I: 6. £h7? Ef81 7. K g7+ &f118.&d2 f2 9.c4 Ef4l 10.c5
Ef5111.c6 B1 Ed5+ -+ White loses his pawn and the resulting rook
ending is lost

Thematic try Il: 6. £h5? Zf81 7. E g5+ ©h3 8.Zh5+ ©g49.Zh1 B2 2
10.%e2 €93 -+ And white will be short of a single tempo to advance his
own pawn after giving away his rook for the black pawn

6.Zhe!! H8!7.H g6+ with two thematic main lines:

7...£f118.2d2 (or 8. c4) 2 9.c4 (or 9.9d2) Hf4 10.c5 Hf511.c6 A1
1/2 white pawn now protected compared to the first thematic try!
7...2h38.Eh6+ £g39.Hg6+ Th3 10.Eh6+ g4 11.Eg6+ Lha
12.Bh6+ £g5 13.Eh1 A2 ©f4 14.c4! Hd8+ 15.2¢3 1/2 White now
has the vital extra tempo compared to the second thematic try!

Tries: 1.£3?2 ©d7 (1... £ xc4+ 2.Dxc4 and White gets the pawn, draw)
2.f4 (White has lost a tempo, so Black wins) 8 xc4+ (the BL is now on
d7, close to the pawn, so this variation works for Black) 3.&xc4 Dd2+!
4.5b5 L7(8) 5.c4 Lb7 6.c5 a6+! 7.La5 Db3+ 8.Lb4 Nd4l 9. L c4
f5110.8ba De7 11.Lca/La5 Lc6/% 6+ winning for Black
1.%xa6? (too soon) D5+ 2. L4 Dxab (this variation is a struggle of
tempi and an unusual distant opposition between B and W ££2)
3.%b5 D7+ 4.Lc6 Le8! (4...Ld8 5.f4 =) 5.f3 Le7!6.f4 Ld8 7.5
De8!8.c4 L8l (8...De7 9.f6+ D(L)xf6 10.Lb5! =) 9.c5 Ld8! 10.Lb5
D7+ Lca/LDe6 11.£d7/a5! winning for Black

1.f4! Le8 2.f5 ©d7 3.f6 d8 4.Wxa6! (just now! 4.17? Le7 5.¥xa6
N5+ 6.8c4 Dxab 7.L05 Db8! 8.c4 Lxf7 win) D5+ 5.2 c4 Dxab
6.2 b5 (with W & f6, neither 2 c7+ nor b8 works) Db8 7.c4 1/2

122



D052

o
ye i
i 3
A 3
& 4
= (4+5)
D053
X
L
A
$E |
$ 3
3
= (4+6)

Thematic tries: 1.2c7? B1 h3 2.b6 h2 3.b7 h1¥ 4b8% B2 Wc1+5.&b6
We3+ 6.La5 Wxd3 -+

1.£a6? C1h32.b6 h23.b7 h1Y 4b8% c2 Wa1+5.Lb6 Wd4+ 6.Las5
Wyd3 -+

1.2a5? D1 h32.b6 h23.67 h1¥ 4b8¥ D2 Wa1+ 5.Lb6 Wd4+ 6.%as5
Wyd3 -+

1.2¢52 E1 h3 2.06 h23.b7 h1¥ 4.b8¥ E2 Dxed+ 5. L.xe4 -+

1.%a7? F1 h32.b6 h23.b7 h1¥ 4.8 F2 Wa1+ 5. £.a6 Wd4+ -+
1.2¢6! A1 Precise key. W< makes W & ready to march for promotion
&d8 (1..h3 2.b6 h2 3.b7 h1¥ A2 4b8Y c1+ 5.&d5! (WD avoids
check by BY) 4/%a1/%Wg5 6. Yxe5+ =) 2.£ c4! Dxe4 3.b6 (3.L.e6?
De74.9d5 D3+ 5.Exe5 Dxbs -+) L8 4.2d5 Dd25.L.e2 Tb7
6.£.g4! (Domination W& vs.B& &) e4 7.2d4 ©xb6 8.Le3 ©c5
9.&xd2 ©d4 10.2e2 1/2

Thematic try: 1.Exe2? Hag+/a2 2.9a7?! (2.Lb3 a2 3. Exa2 Hxa2
4.Exa2h25.52b1 Dg1 6.9d4 MY -+ B2, B¥h6) Exa7+3.&b3 a2
4.Hxa2 Exa25.9xa2h26.2b1 g1 B1 (BLhe) 7.Ebs £g7/&h7
8.Hb7+ £96 9.E b6+ g5 10.H b5+ g4 11. Ebs+ £g312.Eb3+
©£213.Eb2+ De214.Eb1 Dc3+-+]

1.He6+!

1..2h5 2. Bxe2 Hag+

Thematic try: 3.2°b3? a2 4.Exa2 Exa2 5.&xa2 h2 6.2 b1 Og1 B3
(WDb5) 7.20d4 h1%-+ B4 (BL h5)

3.9a7! Exa7+4.9b3 a2 5.2xa2 Exa2 6.&xa2h27.2b1! (7. Ebs?
Lg41 8. Eh8 Dha-+) Dg1 A1/A3/A5 8.Hb8! g4 (8..£g6 9. X hs=)
9.H g8+ 1/2 (9.Eh8? Dh3-+)

1..%g52.Exe2 Hag+

Thematic try: 3.2a7? Hxa7+ 4.2b3 a2 5.Exa2 Exa2 6.&xa2 h2
7.Eb1 Dg1-+ B5 (BLg5)

3.9b3!a2 4.Hxa2 Hxa25.%xa2 (5.2d4? Ef2l-+) h26.Eb1 g1
7.2da'h1¥ A2/A4 8.Hxg1+! Wxg1 9.3+ 1/2

1..%h7

Thematic try: 2. Exe2? Ea8+/a23.%b3 a2 4. Exa2 Exa2 5.2d4 Hf2!
6.Dxf3 Exf3+7.2c2 B6 (BL¥h7) £g6/Lh6 -+

2.He7+! &h8 3.Hxe2 Ea8+4.2b3 a2 5.Hxa2 Exa26.2d4! Hf2
(6..h27.Dxf3 1Y 8. Z ha+ Wxh4 9.5\ xh4=)

7.9xf3 HExf3+8.2c2!1/2 A6
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1.Dg5+! (1.Yxf7+? Wxf7 2. Dg5+ L g4 3.Dxf7 Lf5 -+) g4 2.Dxf7
£4+ 3.2d1! 3.9b2? Wha+ 4. ¥b3 Wxb3+ 5.xb3 &f5 -+) What
4. We6+! (4. c3? Wxc3! 5. De5+! (5. Pg2+ <56, Wds+ £¥6 7. d8
Y1+ 8. o2 Ye3+ 9. £d1 9d6 10. €2 Y1+ 11. €03 W1+ 12. La4
Yo+ 13. b3 2c8 14. b6 et 15, Yda+ Le7+) ©h316.Ye6+ Lh2
7.Wa2+ £g118. ¥ g8+ 29319.0c4 Wh3+110.Lc1 Dd6 -+) g3!
(4..2h4 5. Le2l =)

Thematic try: 5. %b3+? Wxb3 6.cxb3 ©g4 7.Le2 ©f5 8.Ld3 Le6!
9.%e4 £.¢1110.0e5 Dd6+ 11.9d4 £b2+ B -+

5.%e1+ Wxel+ 6.Lxe1 £ga7.Le2 Lf58.Ld3 Le6!9.Led Lc1!
10.2e5 Dd6+ 11.2d4 £b2+ A 12.¢3!11/2

1.2d2a3!(1... £xf7 2.8.xf3=,1...Dc4+ 2.¥el a33.Le4 a2 4. Hb7+
$a35.Ha7+ Lad6.Exf3+ b4 7.Eb7+ )

Thematic try: 2. £ 7xf32 a2 3. K1 2d1 4. Ef4+ B Dc4+ 5. Exca+ Lxca
6.2a6+ £d47.2xe2a1¥ 8.2xd1 (8.Bxd1 We3t) We3+9.Le2 West
(2.£xf32a23.5a7 La44.2xe2 a1'¥ 5. 24+ ©¢56.2 g4 Yh2+ 7. Lel
£d78.Ha5+ ©d6 —+, 2.2 c7? Deca+ 3. Exca+ Lxca 4.2xf3 a2 —+)
2.Boxf31a2 (2... £xf73.Hxa3 =) 3.Hf1 £d1 4.2 14+! A (Thematic
try: 4.5 7f4+? B Dca+ —+ as after 2. K 7xf32) a3 (4... Dca+ 5. Exca+!
Dxc46.Ec7+ Db47.Ec1 =, 4...%b3 5. £d5+! Dxd5 6. Eb7+ La3
7.2f3+ ©a48.Ha7+=)5.8¢6! (5.2267 a1 6. Lxe2 Lb3 —+) e1W 4!
(5...a1%¥ 6.Za7+ Da4 7. K fxad+ Lxa4 8. B xad+ =) 6.&xe1 a1¥
7.Ba7+ (7.9122 Wph2+ 8. 893 We59. £.e4 Nd5 10.£xd5 Wxd5 —+)
£a4+(7...9a48.2d2 ¥b2 9.Eb7+ £b3 10.Exb3+! Lxb3 11.Lxad+
=) 8.22! (8.Ye2? Wh2+ 9.9f3 W3+ 10. L g4 Wxco —+) Wes

(8. Wp2+9.%g31=,8... Wc1 9. Hf3+ b4 10.£xa4 Dxas 11.Haf7 =,
8...Wa2+9.9g3 Wgs+ 10.2h4 =) 9. H3+1 (9.293? Wgs5+ 10.H g4
We3+11.2f3 £b3 12.9h2 Whe+ 13.2292 £.¢6 14.2xc6 Wxc6+ —+)
Lb4 (9...Eb2 or a2 10.£xa4 Wd4+ 11.29g2 Dxas 12.5f2+ =)
10.£xa4 Dxa4 (10... Wh2+ 11.Lf1 Dxas 12.897=) 11.Eb7+ 1/2

Two thematic tries
Mates
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Thematic try: 1.2 g6? ¥d4 2. £.f6+ Wxfe 3. Exfe ©g8 4. 23 c25.5c3
256.Lg5 £h77.94 (7./4 Ledl) b58.Le3 b4 9.Ld2 bxc3+B-+ as
there is no stalemate.

1.8f6! Wxf2 2. H g6+ Wxf6 3. Hxf6 £g84.Hf3 (4.H g6+ &7 5.Hg1
b5-+) c25.Hc3 £f56.2g5 £h7 7.2f4 b5 8.2e3 b4 9.2d2! bxc3+
A 10.2¢1 with unavoidable stalemate.

(Please compare Korteling, Tijdschrift v.d. KNSB #441 (m), HHDBV
#63727)

1.2f7+ 2ds

Thematic try: 2.b7? Eb4 3.08Y (3.e4+ L xed! 4. Dxg5+ Lf5! (4... Le3
5b8%=) 5.9xh7 a2 6.b8Y Hxb8 7.&xb8 a1 -+) Exb8 4.Lxb8 a2
5a7 a1 6.a8YW+ (6.e4+ Lxed 7.8+ Wxas+ -+) Wxas+ 7.&xa8 g4
8.2h6 g3 9.2)f5 g2 -+ B)

2.e4+! Hxe4 3.b7 Hb4 4.08% Hxb8 5.&xb8 a2 6.a7 a1¥ 7.a8%W+
Wxa8+ 8.&xa8 g4 9.2h6! g3 10.25 g2 A 11.De3+! 1/2

1.8e4 c22.8xc2 Yxc2 3.a6 (3.2d5 bxas5 4.bxa5 Lxb3 5.&c6 b4 6.a6
$c27.9b7 b3 8.Yxa7 b2 9.Lb7 b1+ 10.La8 L3 11.a7 Lb4a
12.9b7 5+ 13.9c8 Weq 14.2b8 Wes+ 15.9b7 Wee+ 16.2b8
W47 17.a8YW &b6 -+ ) Dxb3 4.2d5 Lxba 5.Lc6 Lc46.Lb7 ba
7.%xa7 b3

Thematic try: 8.2b7 b2 9.a7 b1¥ 10.a8Y B We4+ (or Wh1+)
11.&b8/La7 Wxasd+ 12.&xa8 b5 -+

8.2b8!b29.a7 b1¥ 10.a8% A 1/2
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Thematic try: 1.a3? ©xh5! (1...bxa3 22.bxa3 main; 1... £g4 2. Zh1 Exh5
3.04! £g74. 2d1 Dc4 5.b3=)2.5d3 Desl (2..Dc4? 3. Hd5+ £g6
4.Hd4 Des+5.Lc71 (5.2e8? bxa3 6.bxa3 Le7!l 7.&xe7 (7.a4 Lg5
8.a5 h3-+) 7. c6+-+ fork) £g5 6.axb4 h3 7.b5=) 3.2¢6 bxa3 4.bxa3
2.5 (4... £9475. Hd4=pin) 5.a4 g4 6.a5 £f2 7.a6 h3 8.Exh3 Lxh3
9.%¢7 D31 10.Lb7 Dbs-+; (1.2d3? Dcal 2. Hd5+ ©he 3.5d4 Des5+
4.Leg Le7115.Lxe7 Dc6+-+ fork)

1.a4!! bxa3! En Passant 2.bxa3 €xh5 3.a4! (3.Eh2? Ded! (3.. Db3?

4. 8b2 9)c15.04=; 3... Oc4 24.04 £h6 5. 6 Lf46. Bh1 Lg47. Hgi1+=)
4.He2 Nc35.Hc2 Dadl 6.Le6 h3 7.5 Lh6! 8.Le4 Lg4-+; 3.2¢6?
Lgal-+ (3.. £h6 24.a4! Lg4 5. Bh2! £936. He2 £b37. b2 Oda+
8.€b7! £¢19. Hb1 £d210. Hg1+ €2 11. Zd1 9f312. b6 Le3+

13. €b7! £d2 14. b6 positional draw or 14..h3 15.a5 Lel 16.a6 h2
17.a7 h1 2'18.a8 = Excelsior)) ©£g4 4.Eh1! (4.2h2? £b4l-+) h3 5.a5
£.¢56.a6! (6.2h2? Db3!7.a6 Lg1!(7... £9378. Zb2 £)a5 9. Zb8! h2
10. Zg8+ £211. Zh8 £g212. Hg8+=)8.Ha2 ©g39.a7 L.xa7 10.Exa7
h2-+) Db3

Thematic try: 7.£7¢8? Da58.2h2 ©939.2c2h2 10.Exc5 h1¥
11.Hxa5 B2 (W& c8) Was+ (11... &6+ 712. £b8 Lb6+ 13. €08 Yias
14. £a7=)12.%c7 Wa7+-+

7.8c71 Da58.Hh2! (8.2a1?2h29.Had+ (9. Hxas57 L£g11+) ©g3!
(Thematic try: 9... £h3210. Exas5 h1 211, Hxc5 Zas 12. £b6 Zbs+

13. £a5!'b1 (BLh3) Yds+ 14. £b5! b8+ 15. Las positional draw, or
15.. £94 16. Hb5=) 10.Exa5 h1¥ 11.Hxc5 ¥a8 12. b6 Whs+
13.%a5-+ a1 (B¥g3)) £g39.Hc2! (9.5a27h210.Exa5 h1% 11.Hxc5
Wag 12.%b6 (12. Za5 Za7+-+)12..¥b8+-+) h2 (9..£d4 10.Ed2

(10. €682h2 11. Hxh2 €xh2 12.a7 Oc6+-+)h2 11.Ed3+ £f212. Ed2+
©£9313.2d3+=;9..£291 10.Ec3+ £94 11.2c2 £g312.E3+=)
Thematic try: 10. £ c3+? ©g4! (10... €h4211. Bxc5h1 212, Hxas5=)
11.Exc5B1 (BLg4) Db3! (11..h1 &212. Hxas5=)12.Eca+ (12. Hc3 h1 &
13. Hxb3 a8 14. £b6 Zb8+-+) £g5!13.Ec3 h1'¥ 14, Exb3 Was!
15.2a3 Wa7+ -+

10.Exc5 A1 (B g3) h1¥ 11.Hxa5 = A2(W&c7)

Thematic try: 11. 2 g5+? ©f41 12.Exa5 Wh7+! (12..Wc1+? 13.Lb6!
Y1+ b2 (BYb1) (13.. Ze3+ 14. Hc5=) 14.E b5=) 13.9b6 Wg6+!-+ a2
(b g6) (13..Wh6+? 14.Lb5! Was+ (14... Yh5+ 15. Lb4l Y7 16.a7=)
15.%a4 Wgs 16.a7 Wea+ 17.9a3 W3+ 18.La4 Wea+ 19.%a3
positional draw)
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1.£97 (1.b4+? ©d5 2.£.g7 f6 3. £.xf6 Df7+4.Le7 De5 5. Lxe5 Lxe5
6.2d3 ©d5 -+) &d5

Thematic try: 2.b47 f6 3.£.xf6 D7+ 4.Le7 De5 5.Lxe5 Lxe5 6.2d3
B1 £d5-+7.2b4?7?

2.b3! 6 3.8xf6 Df7 4.Le7 De5 5.8 xe5 Lxe5 6.2d3+A1 Ld4
7.2b41/2

or1...2d6

Thematic try: 2.03? f6 3. £.xf6 D7 4.Lc8 De5 5.f4 Dg4 6.2)xg4 fxgs
B27. Le5+ Lc6-+

2.b4! f6 3.8.xf6 Df7+4.Lc8 (4. Le8 De5 5.f4 Dg4 6.Dxg4 fxgs
7.2.e5 Le6) De5 5.4 Dga 6.Dxg4 fxga A2 7.8.e5+ L6 8.b5+!
(8.f5? £d5 9.6 Lxe510.f7 a1 11./8Y Wag+ -+) €b59.f5 g3 10. f6
g9211.f71/2

Thematic try: 1.£.xf6? £xfé! (1...f2 2. Ec5+ b4 3. Hca+ Dxb3
4.84=) 2. Hc5+ Db41 3. Eca+ (3.2f5 Hf14.Lg4a 12593 Ld4-+)
Lxb314. 2 fa Hf15.Lg4 (5.2 xf6? f2) £2 6.3 £g5!(6... 2e5? 7.Ehal
2:3A18.2h31=)7.2d4B1 ©c31-+;

1.Ec5+1 &bat (1...Da6 2. £xf6 2 3.2 f5!) 2. Hca+! a3! (2... &xb3?
3.2 c3+4!) 3. &.xf6! &xf6 4.Ef4 Ef15.294 (5.2 xf6? f2! -+) f2 6. 23
£957.Bda1A1 &f6(7...2e78.b4)) 8.Hf4 Le59.Hcq! ©xb3
(9.Eh4? £c31B2) 10.Ehat £c3A211.HEh3111/2

1.Ha8+ ©h72.a6 Exc2+

Thematic try: 3.2g3? Hc7 4.a7 ©¢6 5.2 h8+ £xh8 6.a8%+ N db8! 7.a5
Ha78.%Wxa7 Dxa7 9.6 Dxa6 10.f4 Dc5!11.f5 Ded+ B (WL g3 - White
is now in check) 12.2f4 96 13.&e5 € g7 with a Troitzky win. If 3.£f12
b6l 4. Eb8 D6d5 5.a7 De3+6.Lg1 Eg2+7.&2h1 Dd38.Hb2 Hgsl
9.He2 Of5 10.Eh2+ ©h6 wins, or 8. hg+ ¥xhg 9.a8W+ Hg8
10.%xg8+ Lxg8-+ Troitzky

3.9g11 He7 (3..De5 4.a7 Dxf3+ 591 Dd36.Ehs+ £g77.Hg8+
&7 8. 218+ =) 4.a7 Dc6 5.2 h8+ ¥xh8 6.a8W+ Ndb8 7.a5! Ha7
8.Wxa7 Nxa7 9.a6! (9.f4? Va6 -+) 9...2xa6 10.f4 Dc5 11.f5 Ded A -
with W%’g1 White is not in check, and has time for 12.f6 1/2
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D063

Thematic try: 1.2g4 ©c4 2.&xh4 ©xb4 3.2g5 a5 4.996 a4 5.8xg7 a3
6.h6a27.h7 a1 8.h8Y e4+ 9.d4 exd3+! en passant —+

1.d3 D¢6 (1...e4+ 2.dxes+) 2.2g4 Lb5 3.2xh4 Txb4 4.2g5 a5
o § % | 5.&96 a4 6.%2xg7 a3 7.h6 a2 8.h7 a1 ¥ 9. h8¥ e4+ 10.d4! 1/2 Same
o $ | position as in the thematic try, but no en passant!

= (5+6)

1. Ed8+ (1.Exd4? Y8+ 2.9b5 Wh7+ 3.Lca Wae+-+) Lxd8
uw -4 Thematic try: 2.% g2+? Dd5 zz 3.a5 (3.¥xg8 Dbat; 3.Wh1 Lxe7! -+;

2 3.e8Y Wye8 -+;3.f6 We6+-+) €b8 4.exd8W+ Wxd8 5. Wph2+ L 7!
D A& 6.Wxda Nbal 7.%Wxba Wasg+ 8.&b5 Weet B

B4 2. Wh1+! Dd5 3.Wg2! 72 ©b8 (3. Yxg2 4.exd8¥, 3. &xe7/Lc7

I A 4. %Wxg8+, 3..20d4~ 4% xg8) 4.exd8 W+ Wxd8 5. ¥h2+ L7 6. Wxd4
Dba+ 7. ¥xba Was+ 8.9b5 We6+ A 9.9a5! 1/2
No mate, as square a5 is available.

= (6+5)

D065

Thematic try: 1.2xe2 D3+ 2.9 c4 Dxe2 3.2d3 D4+ B -+
A 1.294+! Dxd6 2. &xe2 Hc3+3.9ca Dxe2 4.2d3 Oifa+ A 5.9d2
£946.293 Ye57.%e3 Dhg68.h4 £h59.2h2 £9410.8293 1/2

e &

= (6+5)
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1.&e5! Hd5+12.&xd5 &f6! [2... b2 3.9h5++-] 3.e7! [3. K xh2? b2
4.9 e8+ Lg6-+] 3... Lxb5! [3..Lxe7? 4. Le5!+-] 4,24l

Thematic try: 4.e8%? £.xe8 5.0xe8+ €g5 6. xh2 b2! 7. H g2+ ©f4
8. Hf2+ Le3! (8. £9329. Hc2l=) 9.5f612 (9. Hc2 Ld3-+) 9.8 xf2!
(9..b1%210. £1g4+ £d3 11. De5+=) 10.Ded+ Le3 11.0xc3 Ld3!
12.0b1 £c2-+ B (No 13.2Da3+)

4.. £xa45.e8Y L xe8 6.Dxe8+ Lg6 7. Hxh2b2![7..c28. Eg2+!
©h69.Eh2+ £g510.2d6! 1 11.0cal W12 12. K d21=] 8. H g2+
2h6!9.2h2+ 295 10.Hg2+ 24 11. Hf2+ Le31[11.. g3
12.5c21=1 12.2f61 [12. £ 2? ©d3-+] 12... ©xf2[12.. b1¥ 13. Qg4+
Ld314.De5+ Le3 15.9g4+= Perpetual check] 13.Ded+ Le3
14.9xc3 £d3 15.2b1 L2 A 16.Da3+! 1/2

1.¢5! dxc5 2.2¢c4 g5

Thematic try: 3.2xc5? @xh5! 4.2c¢6 g5 5.2b7 g4 6.Lxa7 g3 7.%b6 g2
8.a7 g1+ -+ B1(no BA ¢5, BY uses the free line g1-a7 to check)
7.5b8g28.a7 g1W19.28Y Wag+! -+

3.2b5! Lxh5 4.2¢6 g5 5.2b7 g4 6.Lxa7 g3

Thematic try: 7.2b8? g2 8.a7 g1¥ 9.a8% B2(W& b8, on the line with
the W) Wgg+! -+

7.2b6! g2 8.a7 g1¥ A1(with B2 ¢5, which protects against the check)
9.a8W1 1/2 A2( with W& b6, not on the line with the WY and W&
cannot be captured)

Two thematic tries refuted on account of lack of B & -shield at ¢5 (try 1)
or wrong position of we (try 2)

1.97 Wxg7 2.2 e5+ Wxe5 3.2xe5 Dxf7

Thematic try 4.2f3 De5 (or 4.2 g5) 5.£.b5 Dxf3 6.2xe2 Nda+ 7. L c4
Dxe2 B-+

4.2d3! De55.2h5 Dxd3 6.8xe2 Dcl+7.Lc2 Dxe2 A 8.Db3+
2a29.Dc1+ Dxc1 10.2xc1 h5 11.2d2 (or 11.9d1) h4 12.2e2 h3
13.9f3 £¢7 14.9f21/2
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1670 ©xf7 (1...f1Y 2.8Y Dxhe 3. Whe! Whs+ [3...%d3 4.Le7 =]
4.5 c8or De7 =) 2.9g5 ©g8! (2... 2167 3.h7 f1'Y 4.h8¥ Wh55Lc8
W6 6.L08! =or2...89673.h7 f1¥ 4hg¥W=) 3.h7+! £h8

Thematic try: 4. Zb42! Le8+!5.&xe8 f1Y 6.2 b8 W4l 7.2 c8 Wxgs
8hgg1¥! B-andno9.g6

4.Hca! Le8+!5.Dxe8 g1 W1 (or5...f1Y 6.5 8 Wa6 7. E b8 etc. =)

6.2 c8 Wxg5!7.hg F1¥ ABYf1) and now 8.96! Wa69.Ebs Wde
10.H2 c8 ¥a6 - positional draw!

Thematic try: 1.Ze6+? £g7 2. He7+ &8 3. Ef7+ Leg 4. He7+ £d8
5.2d7+ £c86.Ec7+ ¥b87.Eb7+ £a8 B 8. He7+ (8.&c7 £xg3+
9.Lc8 Hxd5 -+) Exd5+ 9.exd5 £xg3+ 10.2c6 e1% 11.Hxe1 Lxel
12.h5 g3 -+

1.h5+1 2h6 (1... 816 2. He6+ £f7 3. He7+ L8 4. Kf7+ (4.2d7 L.c5!
-+) e85 He7+ ©d8 6. 2d7+ £c87.Ec7+ ©b8 8. Eb7+ La8 A1

9. He7+1 Exd5+? 10.exd5 2xg3+ 11.Lc6 e1¥ 12. Exe1 Lxe1 13.d6
£xc314.d7 £f6 15.h6 +-) 2.He6+ Dxh53.He5+ 296 4.He6+ g7
5.He7+ 18 6.Hf7+ ©g87.He7+! @h8 (7..Exd5+7 8.exd5 £xg3+
9.Lc6e1W 10.HExel Lxel 11.bxa6 £f212.d6 +-) 8.He8+ g7
9.He7+ £1810.Hf7+ ©e8 11.He7+ ©d8 12.Hd7+ £c813.Hc7+
2b8 14.Eb7+ £a8 A 15.2¢7! (15.He7+? Exd5+ 16.exd5 Lxg3+
17.9c6 1Y -+) 15...8xg3+ 16.e5! Lxe5+ 17.2¢c8 Hxd5 18.Ha7+!
Exa7 19.b6+ La8 (19..Lxb6 stalemate) 20.b7+ La7 21.b8 W +!

£ xb8 model stalemate

Triple theme treatment
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1.2c4+ (1.c8%7 Whe+) ©xcd 2.c8 W+ Wxc8 3.Hc1+ ©dat 4.Exc8
@3+ 5.d3! (5.2¢1? exf2) @xd3! [5..exf2 6. K c4+ Le3 (6... Exd3 7. Zt4)
7.8c2 Lxd3+8.9b3 Lxcd+ 9. Yxcd Le2 10.¥b3 F1E 11. Exf1 Lxf1
12.&xa3=]

Thematic try: 6. £d8+2 3+ 7.2¢1 €2 8.Ed1 exd1¥+ 9. &xd1 L2+
10.2e2 (10.&¢1 15 11.f4 ©d3) ©b2 B 11.E g1 ©xa2 wins, for example
12.Hg7 £b3

6.Lc11 (6.2 27 e2 7.Hxe2 ©xe2+ wins) e2

Thematic try: 7.£d8+21 8. Ed1 exd 1%+ 9.&xd1 £c2+ 10.Le2 ¥b2 B
7.He8! £e68.Hd8+ ©c39.Hd1 exd1 ¥+ 10.&xd1 £ g4+!
Thematic try: 11.%¢1? 25 12.%d1 22+ 13.&e2 b2 B

11631 £xf3+ 12.2c1 L4 13.2d1 L2+ 14.2e2 Tb2 A (no WA )
15.5f111/2

Thematic try: 1.fxg6? £e3 2. 23 £d4+ 3.2b2+ £¢3 4.9d3 Dxad+
5.20b2+ D3 6.0d3 Dd1+7.Db2+ De3 8. Hxe3+ Lxe3 9.cxd5 c1W+
10.Exc1 Lxc1 1.2 c4+ £b3 12.97 £95 13.980 Lxc4 14.Lxa2
Sxd5 15.Lb3 L5 16.La4 (16.2c3 ©b5 17.&£d4 Lxa5 18.&c5
(18.%e5 ©b4 19.9f5 (19.2)f6 a5 20.2)e4 a4 21.9xg5 a3 -+) a5
20.%xg5 a4 -+) a4 19.2d6 Lb3 20.0e7 a5 21.9¢6 a4 22.Dd4a+ 3
23.Db5+ (23. ©d5 eg £.h6 24.Db5+ L4 25.0d4 Le326.Dc2+ Tb3
27.Dxe3 a3 +) ¥b4 24.Lc6 Le3 25.95 Lxg5 -+) P4 17.0e7 (17.%a3
Db5-+) Lxe7 B No stalemate

1.95! (1.cxd5? 23 2. Eca Des!3.Bfc7 Dxca (3..Dxd3) 4. Excs ©b3
5.Eb4+ L¢3 6.Lxa2 Dxd3-+) &xg5 (1..2e5 2.cxd5) 2.fxg6 Le3
3.5Hf3(3.2f4 £xf4 4.cxd5 Le35.Ec4 ©b316.97 Lxc4 7.98Y Lxd3
-+) £d4+ 4.Db2+ D3 (4..£.¢3 5. xc3+ Dxc3 6.0d3) 5.2d3

(5. 512 111 6.Exc1 Dxad -+ (6..2d1)) Dxad+6.2b2+ N3
7.2d3 Dd1+ 8.2b2+ De3 9.Exe3+ Lxe3 10.cxd5 c1 W+ 11. Hxc1
£xc1 12.Dc4+ Lb3 13.97 £95 14.98D Lxc4 15.¥xa2 Lxd5
16.2b3 (16.La3? L4 17.&a4 L5 -+) L5 (16..Le6 17.Lc4 Lf7
18.9¢5=) 17.La4 L4 18.De7! (18.9a3? Lb5 -+) Lxe7 A=
stalemate
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D073
1.2d8! (1.93? £e292.20d8! Hxd8 3. Exe2-4.Ea2¢, 1..He2!-+) Exds

A E Wl Thematic try: 2.g47 £.c43.50e5 fre5 4,253 £xb3 5. a2+ £.a4!
4 i AN 6.2 xad+ Yxad B(WA g4) - White threatens to stalemate himself after
i $H & #|79xhs5but7.2g6-+
w D3 § | 2.93! £c43.9e5! fxe5 4.£b3! £xb3 5.Ba2+! La4! 6. B xas+

i g_ (6.gxh4? Abe! -+) L:ad A (WA g3) 7.gxh4 and there is no defence

against the threatened stalemate 1/2
&0
&l e Alogical decoy of the BE e8 to allow thematic play by the W & g2 (with

single or double step), sacrifices by four white pieces and stalemates
= (64+16) (one successful and one attempted) after the analogous positions
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